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The following table shows the percentage (%) distribution of 12t class students scoring (i) 95%
and above marks, and (ii) between 90 - 95% marks, along with ratio of Girls to Boys among them
from six schools A-F of Delhi. Total number of students scoring 95% and above matks and between
90 - 95% marks are 6000 and 10000, respectively. Based on the data in the table, answer the
questions that follow.

School-wise Distribution of Students Based on Marks

Scoring 95'% and above Scoring between 90 - 95%
Gehod marks(6000) marks (10000)
I;Fr;f::l?f:s Girls : Boys ?:ﬁiﬁiﬁz Girls : Boys
A 13% I1:8 16% 32
B 18% bt 6% 1:4
C 17% B35 10% Bid
D 8% 7:1 28% 23
E 24% 5:4 21% g5
F 20% 5.8 19% 3:4

Sub questions

Question Number : 1 Question Id : 87827036231 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

For school E, the difference between the numbers of boys who scored 95% and above marks and
boys who scored between 90 - 95% marks is :

(1) 115

(2) 120

(3) 110

(4) 105

Options :
878270142441.1
878270142442, 2
878270142443. 3

878270142444. 4



Question Number : 2 Question Id : 87827036232 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The number of gitls of school B who scored between 90 - 95 % marks is approximately
% of the number of girls of school D Who scored 95% and above marks.

(1) 2857
(2) 2246
(3) 29.95
(4) 3246
Options :

878270142445. 1
878270142446. 2
878270142447. 3
878270142448. 4

Question Number : 3 Question Id : 87827036233 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The number of bnys of schools E and F logelher who scored 95% and above marks 1s appmximal‘el}f
% less than the number of girls of schools B and E together who scored between

90 - 95 % marks.

(1) 24
(2) 26
(3) 20
4 22
Options :

878270142449. 1
878270142450. 2
878270142451. 3
878270142452. 4



Question Number : 4 Question Id : 87827036234 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Average numbers of boys who scored between 90 - 95% marks from the schools A - E together is :

(1) 746
(2) 718
(3) 745
(4) 785
Options :

878270142453. 1
878270142454. 2
878270142455. 3

878270142456. 4

Question Number : 5 Question Id : 87827036235 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What 1s the ratio of the number of boys of school C who scored between 90 - 95 % marks to the
number of boys who scored %% and above marks in the same school ?

4] &i

(2) 10:17
() 10:13
4 12:17
Options :

878270142457. 1
878270142458. 2
878270142459. 3

878270142460. 4



Question Id : 87827036230 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)

Question Label : Comprehension
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yfeve L
A 13% 11:5 16% 3:2
B 18% 5.7 6% 1:4
C 17% 3:5 10% 5:3
D 8% 7:1 28% 2:3
E 24% 5:4 2% 9:5
F 20% 5:3 19% 3:4

Sub questions

Question Number : 1 Question Id : 87827036231 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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(1) 115

(2) 120

(3) 110

(4) 105
Options:
878270142441. 1
878270142442. 2
878270142443, 3

878270142444. 4

Question Number : 2 Question Id : 87827036232 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
e B 1 90 ¥ 95% o af o W F el crgial i1 He Tl D 95% 1 S S o
F 96 A 1 HE F A o Yo & 7
(1) 2857
(2) 2246
(3) 29.95
(4) 3246
Options :
878270142445. 1
878270142446. 2
878270142447.3

878270142448. 4

Question Number : 3 Question Id : 87827036233 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1)

) 2
(3) 20
H) 27

Options:

878270142449. 1
878270142450. 2
878270142451.3

878270142452. 4

Question Number : 4 Question Id : 87827036234 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

el A T E T 5ol el # 90 §95% % a4 of T o At e o A g fo |7

(1) 746
(2) 718
(3) 745
(4) 785
Options :

878270142453. 1
878270142454. 2
878270142455. 3

878270142456. 4

Question Number : 5 Question Id : 87827036235 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



el C % 90 6 95% o afl 33 W &1 et el o Te SR 31 e o 95% A1 35 A o
I % At el i Hed ST

() 5:9

() 10:17
(3) 10:13

() 12:17
Options:
878270142457. 1
878270142458. 2
878270142459. 3

878270142460. 4

Sub-Section Number : 2
Sub-Section Id : 8782701531
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 6 Question Id : 87827036236 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

“When a pin pricks our finger we withdraw the pin”. Such kind of behaviour is termed as :
1) Emotional Instincts

)

3)  Biological Instincts
4) Intellectual Instincts

E Reflex Actions
[

(

Options :
878270142461. 1
878270142462. 2

878270142463. 3

878270142464. 4

Question Number : 6 Question Id : 87827036236 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270142461. 1
878270142462. 2
878270142463. 3

878270142464. 4

Question Number : 7 Question Id : 87827036237 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement [ :  Problem based leam’mg is a learner centred a‘pproach.

Statement I1: In guided discnver}f learnmg students are encouragecl to construct their
understandmg without the assistance of teacher guided questions and directions

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct
2) Both Statement I and Statement II are incorrect
3

4) Statement I is incorrect but Statement II is correct

(
(3) Statement I is correct but Statement II is incorrect
(

Options:

878270142465. 1

878270142466. 2

878270142467. 3



878270142468. 4

Question Number : 7 Question Id : 87827036237 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270142465. 1
878270142466. 2
878270142467. 3

878270142468. 4

Question Number : 8 Question Id : 87827036238 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I :  Teacher centred methods of teaching are more effective than learner centred
methods in promoting deep leamjng.

Statement Il ; Lecture method involves the use of Dpen-ended problems to encourage critical
thjnkjng and problem snlving.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4) Statement I is incorrect but Statement II is correct

(
(3) Statement I is correct but Statement Il is incorrect
(

Options:

8782701424609. 1

878270142470. 2

878270142471. 3

878270142472. 4

Question Number : 8 Question Id : 87827036238 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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8782701424609. 1
878270142470. 2
878270142471. 3

878270142472. 4

Question Number : 9 Question Id : 87827036239 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Mr. Johnson wants to create a mind map for his students to help them understand the concept of
photosynthesis. Which of the following tools would be most suitable ?

(1) Mindmeister

(2
(3
(4

) Edpuzzle

) Nearpod

) Hot potato
Options :
878270142473. 1
878270142474. 2
878270142475. 3

878270142476. 4

Question Number : 9 Question Id : 87827036239 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270142473. 1
878270142474. 2
878270142475. 3

878270142476. 4

Question Number : 10 Question Id : 87827036240 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which DTH channel deals with social science -1, social and behavioural sciences ?
(1) Channel - 02 - Sanskriti

(2) Chhanel - 06 - Vidhik

(3) Channel - 03 - Prabodh

(4) Vhannel - 05 - Prabandhan

=y

Options:

878270142477.1
878270142478. 2
878270142479. 3

878270142480. 4

Question Number : 10 Question Id : 87827036240 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :



878270142477. 1
878270142478. 2
878270142479. 3

878270142480. 4

Question Number : 11 Question Id : 87827036241 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Identify the advantages of close-ended questions in survey research :

(A) They allow unusual responses to be derived.

(B) It is easy to process their answers.

(C) They reduce the possibility of variability in the recording of answers.

Choose the correct answer from the options given below :

(1) (A)and (B) Only

() (B)and (C) Only
(3) (A) and (C) Only
(4) (A), (B) and (C)

Options :

878270142481. 1
878270142482. 2
878270142483. 3

878270142484. 4

Question Number : 11 Question Id : 87827036241 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270142481. 1
878270142482. 2
878270142483. 3

878270142484. 4

Question Number : 12 Question Id : 87827036242 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A researcher gives the following options to a respondent while asking a question during a survey.
[dentify the options which suffer from ambiguity :

(A) Very often

(B) Quite often

(C) Not very often

(D) Not at all

Choose the correct answer from the options given below :

() () (8)and (C) Only

®) ®) (0 and (D) Onl

(3) (A), (C) and (D) Only
@ (A) (B (O and D
Options :

878270142485. 1



878270142486. 2
878270142487. 3

878270142488. 4

Question Number : 12 Question Id : 87827036242 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T 1 % S T SR 9 TS W S el o e fofian foemen S €1 A foered o
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Options :

878270142485. 1
878270142486. 2
878270142487. 3
878270142488. 4

Question Number : 13 Question Id : 87827036243 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Identify the advantages of content analysis :
(A) It is a very transparent research method.

(B) It is often referred to favourably as an unobtrusive method.
(C) Itis a highly flexible method.

Choose the correct answer from the options given below :
(I) (A)and (B) Only

(2) (B) and (C) Only

(3) (A)and (C) Only

(4) (A), (B) and (C)

Options:

878270142489. 1

878270142490. 2

878270142491. 3

878270142492. 4

Question Number : 13 Question Id : 87827036243 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270142489. 1

878270142490. 2



878270142491. 3

878270142492. 4

Question Number : 14 Question Id : 87827036244 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

When two variables are related in such a way that when one increases, so does the other, you can
conclude that :

(I)  There is no problem with directionality.

(2)  The two variables are positively associated.

(3)  There are no latent variables affecting the relationship.

(4)  There is a third variable responsible for the causation between them.
Options :

878270142493. 1

878270142494. 2

878270142495. 3

878270142496. 4

Question Number : 14 Question Id : 87827036244 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270142493. 1



878270142494. 2
878270142495. 3

878270142496. 4

Question Number : 15 Question Id : 87827036245 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Identify the measures of dispersion :

(A) Range

(B) Quartile deviation

(C) Sum of the deviations about mean

(D) Standard deviation

Choose the correct answer from the options given below :

(1) (A), (B) and (C) Only

() (B), (C) and (D) Only
(3)  (A), (B) and (D) Only
4) (A), (C) and (D) Only

Options :

878270142497. 1
878270142498. 2
878270142499. 3
878270142500. 4

Question Number : 15 Question Id : 87827036245 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270142497. 1
878270142498. 2
878270142499. 3

878270142500. 4

Question Number : 16 Question Id : 87827036246 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The process by whicha messageis transmitted via some form of medium 1s identified as
communication :

(1) Formative

(2) Inter-connective
(3) Mediated

(4) Formal
Options :
878270142501. 1
878270142502. 2
878270142503. 3

878270142504. 4



Question Number : 16 Question Id : 87827036246 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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Options :
878270142501. 1
878270142502. 2
878270142503. 3

878270142504. 4

Question Number : 17 Question Id : 87827036247 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In analng media, contents are :

(1) Non-linear

(2) Linear

(3) Interactive

(4) Customised
Options:

878270142505. 1
878270142506. 2
878270142507. 3

878270142508. 4



Question Number : 17 Question Id : 87827036247 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270142505. 1
878270142506. 2
878270142507. 3
878270142508. 4

Question Number : 18 Question Id : 87827036248 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The western communication concept is characterised by :
(A) Polydirectionality

(B) Unidirectionality

(C) Transfer of meaning

(D) Message centredness

(E) Flexible sequencing

Choose the correct answer from the options given below :

(1) (A), (B) and (C) Only

(2) (B), (C) and (E) Only
(3) (A), (B) and (E) Only
(4) (B), (C) and (D) Only

Options:



8782701425009. 1
878270142510. 2
878270142511. 3

878270142512. 4

Question Number : 18 Question Id : 87827036248 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(2) %99 (B), (C) IR (B)

(3) A (A), (B) R (E)

(4) %9 (B), (C) 3R (D)

Options :

8782701425009. 1

878270142510. 2

878270142511.3

878270142512. 4

Question Number : 19 Question Id : 87827036249 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement [;  Due to technolngical developments, communication has become mass
communicahon,

Statement I1:  With the arrival of satellites and computers, communication has become more
efficient and complex than ever before.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement Il is incorrect
(4) Statement I is incorrect but Statement II is correct
Options:

878270142513. 1

878270142514. 2

878270142515. 3

878270142516. 4

Question Number : 19 Question Id : 87827036249 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270142513. 1

878270142514. 2



878270142515. 3
878270142516. 4

Question Number : 20 Question Id : 87827036250 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement I :  Environmental communication includes human representation of nature.

Statement Il For the purpose of promoting environmental communication, only mainstream
conventional media should be employed.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4)  Statement I is incorrect but Statement II is correct

(
(3) Statement I is correct but Statement Il is incorrect
(

Options :

878270142517. 1

878270142518. 2

878270142519. 3

878270142520. 4

Question Number : 20 Question Id : 87827036250 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270142517. 1

878270142518. 2

878270142519. 3

878270142520. 4

Question Number : 21 Question Id : 87827036251 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Certain books are bought at prices ranging from 400 to T 500 per book and are sold at prices
ranging from ¥ 500 to ¥ 700 per book. Find the greatest possible profit that might be made in selling
10 books.

(1) %4000

(2) 3000

(3) ¥ 3800

(4) 7000
Options :
878270142521. 1
878270142522. 2
878270142523. 3

878270142524. 4



Question Number : 21 Question Id : 87827036251 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

9 T 3400 BT 500 W G50 F F1 F R G T ¢ 4R T 500 B T700 T F R ST
fegel 281 ST €110 Geeeh] 1 feghl i 2 aen e e o9 9 ifsi|

(1) T 4000

(2) 3000
(3) 3800
(&) 7000
Options :
878270142521. 1
878270142522. 2
878270142523. 3

878270142524. 4

Question Number : 22 Question Id : 87827036252 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A woman, while infroducing a man, says “His wife is the only daughter of my father”. How is that
man related to the woman ?

(1) Father in law

(2
3
(

) Brother in law
) Husband

4)  Brother
Options:
878270142525. 1
878270142526. 2
878270142527. 3

878270142528. 4



Question Number : 22 Question Id : 87827036252 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
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Options :

(
(
(

878270142525. 1
878270142526. 2
878270142527. 3

878270142528. 4

Question Number : 23 Question Id : 87827036253 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Find the number that can replace question mark (?) in the series given below.
1,3,2,5,3,7,49:5,11,6 137

1) 15
2) 7
(3) 19
4) 8
Options:

878270142529. 1
878270142530. 2
878270142531. 3

878270142532. 4



Question Number : 23 Question Id : 87827036253 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

A & TE gEen § yyEre g ((7) i gioenfta s G el Te a w2
1,3,2,53,7,4,9,511,6,13 7

(I) 15
(2) 7
(3 19
(4) 8
Options :

878270142529. 1
878270142530. 2
878270142531. 3
878270142532. 4

Question Number : 24 Question Id : 87827036254 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In a certain code :

(a) 3245 means "you must study hard’

(b) 567" means ‘hard work pays’

(c) 614" means ‘work and study’

Which of the following are the codes for ‘pays’ and "work” respectively ?

Choose the correct answer from the D]Jtii.‘ll'lS given below :

(1) 1&5
(2) 5&6
(3 7&6
4 4&5
Options:

878270142533. 1



878270142534. 2
878270142535. 3

878270142536. 4

Question Number : 24 Question Id : 87827036254 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
LEAE FEiC TR
(@) ‘3245 T 219 € ‘g T w=ET wE
(b) ‘567 F AL T ‘=< T s’
(c) ‘614’ 1 7Y T ‘9% 1w Wy’
frefafaa # ‘99" &R ‘aF FFI: FeFH T E?
Ir= feu U fasredi © 9 W& SO 1 994 FHIfAU ¢

(1) 1315
(2) 53R6
(3) 7#R6
(4) 43R5
Options :

878270142533. 1
878270142534. 2
878270142535. 3

878270142536. 4

Question Number : 25 Question Id : 87827036255 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



A policeman goes 20 meters towards South and then tums to his right and walks 40 meters. He
again turns to his left and walks 10 meters. How far is he now from his starting point ?

(1) 37.5 meters

2) 50 meters

2
(3) 3042 meters
4)

4) 40 meters

Options:

878270142537. 1
878270142538. 2
878270142539. 3

878270142540. 4

Question Number : 25 Question Id : 87827036255 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

e e gt i 4R 20 X e € o R o gt o e & o 40 TR T &
A T AR T & A 10 e o ¥ o A v fog  fee rw R

(1) 375

(2) 50"

(3) 3042 T

(4) 40 "

)
)

[

Options :

878270142537. 1
878270142538. 2
878270142539. 3
878270142540. 4

Question Number : 26 Question Id : 87827036256 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

If the statement - “No professors are materialists” is given as true, then which of the fo]lowmg
statements could be inferred to be true ?

(I)  All professors are materialists.

(2) Some professors are materialists.

(3) Some professors are not materialists.
(4)  Some materialists are professors.
Options :

878270142541. 1

878270142542. 2

878270142543. 3

878270142544. 4

Question Number : 26 Question Id : 87827036256 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
e 18 ff e Wiferae) el ¢ || 9 %1 FE) AR T ¢ 6 A ferfn H -4 e %1 5 o
ST T A ¢
(1) gt e s €|

() F8 MeATE e €|

(3) 9 WA S T ¢ |

(4) D Micere) e &)

Options :

878270142541. 1

878270142542. 2

878270142543. 3

878270142544. 4

Question Number : 27 Question Id : 87827036257 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following statements is logically equivalent to the statement- “No professors are
materialists” ?

(I) Some non-materialists are not non-professors

(2) Some professors are non-materialists

(3)  All professors are non-materialists

(4)  All non-materialists are non-professors

Options :

878270142545. 1

878270142546. 2

878270142547. 3

878270142548. 4

Question Number : 27 Question Id : 87827036257 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

freferfaa | H-91 e Ttk &9 § i mears sifreard T € F & e § )
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Options :

878270142545. 1
878270142546. 2
878270142547. 3

878270142548. 4

Question Number : 28 Question Id : 87827036258 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following propositions are so related that they cannot both be true, although they
can both be false ?

(A) No professors are materialists

(B) Some professors are materialists

(C) Al professors are materialists

(D) Some professors are not materialists

Choose the correct answer from the options given below :

(1) (A)and (C) Only

() (B)and (D) Only
(3 (B)and (C) Only
(4) (A) and (D) Only
Options :

878270142549. 1
878270142550. 2
878270142551. 3

878270142552. 4

Question Number : 28 Question Id : 87827036258 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270142549. 1
878270142550. 2
878270142551. 3

878270142552. 4

Question Number : 29 Question Id : 87827036259 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

"To solve our transportation problems, we have to put more money into production of bicycles.
The CEO of ABCD Company limited says so. “Which of the following fallacy is committed in the
above argument ?

(I) Slippery Slope

(2) Appeal to Inappropriate Authority

(3) Ad Hominem
(

) Hasty Generalisation

ey

Options :
878270142553. 1

878270142554. 2



878270142555. 3

878270142556. 4

Question Number : 29 Question Id : 87827036259 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
" S T O WA o TR o B Wi o o T T 3R o foft i afe o
G & | e ¥ ) e fefee o 1 € o T e 1" ST A W et B @ 9
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(4) fern SR
Options :
878270142553. 1
878270142554, 2
878270142555. 3

878270142556. 4

Question Number : 30 Question Id : 87827036260 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

According to Classical Indian School of logic (Nyaya) which fallacy is commutted in the following
statement ?

“The sky rose is fragrant, because it is a rose like the rose on the earth”.

) Asidhrana

) Badhita
3)  Viruddha
)

ﬁﬁra}f{l siddha

2

(
(
G
(¢

Options :



878270142557. 1
878270142558. 2
878270142559. 3

878270142560. 4

Question Number : 30 Question Id : 87827036260 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

YR VI =41 Tk WA o SER e $99 § S 91 7 o foha 71 & 2
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Options :

878270142557. 1
878270142558. 2
878270142559. 3

878270142560. 4

Question Number : 31 Question Id : 87827036261 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following pair of acronym and its expansion are incorrectly matched ?
(1)  LED - Light Emitting Diode

) CRT - Cathode Ray Tube

) LCD - Liquid Control Display

) VDU - Video Display Unit

Options :



878270142561. 1
878270142562. 2
878270142563. 3

878270142564. 4

Question Number : 31 Question Id : 87827036261 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270142561. 1
878270142562. 2
878270142563. 3

878270142564. 4

Question Number : 32 Question Id : 87827036262 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
Businesses use ICT to build positive customer relations by :
(1) Calling customers at home
) Creating targeted marketing campaigns
3) Placing pop-up advertisements on web sites
) Sending unsolicited e-mails
Options :

878270142565. 1



878270142566. 2
878270142567. 3

878270142568. 4

Question Number : 32 Question Id : 87827036262 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270142565. 1
878270142566. 2
878270142567. 3
878270142568. 4

Question Number : 33 Question Id : 87827036263 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :
Statement [ : (25)1{,j = (00100101)2
Statement 11 (00[}11[}11]2 & (18)1@

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4) Statement I is incorrect but Statement II is correct

(
(3) Statement I is correct but Statement Il is incorrect
(

Options:

8782701425609. 1

878270142570. 2

878270142571. 3

878270142572. 4

Question Number : 33 Question Id : 87827036263 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

FATL: (25, = (00100101),

AT :  (00011011), = (1B)y
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(4) R I HHA B, Cifehd HUT I T €|

Options :

878270142569. 1

878270142570. 2

878270142571. 3



878270142572. 4

Question Number : 34 Question Id : 87827036264 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following statements is/are true ?
(A) BIOS is an example of Application Software
(B) A utfility software is an example of firmware
(C) Spyware is an example of malware

Choose the correct answer from the options given below :
(1) (A) Only

(2) (B) Only

(3) (C) Only

(4) (B) and (C) Only

Options :

878270142573. 1

878270142574. 2

878270142575. 3

878270142576. 4

Question Number : 34 Question Id : 87827036264 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frefafes § 9 FH-Trd F9@ a8 27E 2

(A) WG (BIOS) TR HRAIR 1 TH ST &
(B) SIAITTT TSI FHATL T T 36T ©

(C) TIESR HIeaaX 1 Teh 3SR &

1 fou T faskedi § | Wet S6Y 1 99T S

(1) 9 (A)

(2) 9 (B)

(3) 9 (Q)

(4) %99 (B) &R (O)
Options:

878270142573. 1
878270142574. 2
878270142575. 3

878270142576. 4

Question Number : 35 Question Id : 87827036265 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following statements regarding guided and unguided media in computer Networking
are correct ?

(A) Guided media transmission supports higher data speeds than unguided media transmission
(B) Guided media is subjected to less interference than unguided media

(C) Unguided media transmission is more secure than guided media transmission

Choose the correct answer from the options given below :

() (A)and (B) Only

(2) (A)and (C) Only

(3 (B) and (C) Only

(4) (A), (B) and (C)

Options :

878270142577. 1

878270142578. 2



878270142579. 3
878270142580. 4

Question Number : 35 Question Id : 87827036265 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
g eafd v v affim Hifen o sy o fefefign 8§ 4 99 @ oA 18 £
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Options :

878270142577. 1

878270142578. 2

878270142579. 3

878270142580. 4

Question Number : 36 Question Id : 87827036266 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the fD]lDWiJ‘lg statements are true about hardness in water ?
[t 1s caused b:.; ions of calcium and magnesium

(
(B) It is of two types-temporary and permanent

(C) Permanent hardness can easily be removed by heating the water
(D) Hardness causes scales in hot water pipe systems

(E) Hardness decreases the soap consumption

Choose the correct answer from the options given below :
(1) (A), (B), (C) and (D) Only

(2)  (A), (B) and (D) Only
3)  (B), (©) (D) and (E) Only
4) (Q), (D) and (E) Only
Options:

878270142581. 1
878270142582. 2
878270142583. 3

878270142584. 4

Question Number : 36 Question Id : 87827036266 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) 5 (A), (B), (O) ¥R (D)

(2) %= (A), (B) 3R (D)

(3) %9 (B), (C), (D) 3 (E)

(4) ¥ (C), (D) ¥R (B)

Options :

878270142581. 1

878270142582. 2

878270142583. 3

878270142584. 4

Question Number : 37 Question Id : 87827036267 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What is the full form of CBOD ?

(1) Comparative Biochemical Oxygen Demand
2
(3) Carbonaceous Biochemical Oxygen Demand
(4) Classified Biochemical Oxygen Demand

Common Biochemical Oxygen Demand

Options :

878270142585. 1
878270142586. 2
878270142587. 3

878270142588. 4



Question Number : 37 Question Id : 87827036267 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

.3, 37,21 (CBOD) %1 01 &9 &1 &2

(1) FrRfed Sraehfiehe SAedTeH ferre

(2) HIHA FETRIHRE STEdeH ferre

(3)  HEHEY SRR saRdSH femie

(4) FAHEES FECRTRd e fewig
Options :

878270142585. 1
878270142586. 2
878270142587. 3

878270142588. 4

Question Number : 38 Question Id : 87827036268 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I:  RSPM are those suspended particulate matters (SPM) whose aerodynamic
diameter is more than 10 micron,

Statement I :  Fine particles are those SPM whose aerodynamic diameter is less than 2.5 micron.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement Il is incorrect
(

4) Statement I is incorrect but Statement II is correct
Options:

878270142589. 1



878270142590. 2
878270142591. 3

878270142592. 4

Question Number : 38 Question Id : 87827036268 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270142589. 1

878270142590. 2

878270142591. 3

878270142592. 4

Question Number : 39 Question Id : 87827036269 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which one of the followjng is 1'espnnsible for the negative radiative [orcing or moling of the
atmosphere ?

(I) Water vapour
(2
i
(4

Tmpospheric Ozone

]

; Stratospheric Ozone
) Black carbon
Options :
878270142593. 1
878270142594. 2
878270142595. 3

878270142596. 4

Question Number : 39 Question Id : 87827036269 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

fawferfen © 9 9 aTHvEe o TR fof# gy (Fedfea wi) sreen vider o fo Sem
&7

(1) ¥ am
(2) HHEEr S
(3) HWAAHE S
(4) T FH
Options :

878270142593. 1
878270142594. 2
878270142595. 3
878270142596. 4

Question Number : 40 Question Id : 87827036270 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement [ :  Montreal pmlncol is a multi-lateral environmental agreement that regulates the
pmduction and consumption of nearly 100 man made chemicals.

Statement I :  Montreal protocal is an international treaty designed to protect the environment,

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct
(2) Both Statement I and Statement II are incorrect
(3)  Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement Il is correct
Options :

878270142597. 1

878270142598. 2

878270142599. 3

878270142600. 4

Question Number : 40 Question Id : 87827036270 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270142597. 1



878270142598. 2
878270142599. 3

878270142600. 4

Question Number : 41 Question Id : 87827036271 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The first Indian Universities Commission (1902) was headed by :

(1) Gurudas Bannerjee

(2) Syed Hasan Bilgrami

(3) William Adam

(4) Thomas Raleigh
Options:
878270142601. 1
878270142602. 2
878270142603. 3

878270142604. 4

Question Number : 41 Question Id : 87827036271 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Ty Y favafeened 1@ (1902) & %A shid &2

(1) TESE sl
(2) HFE A oo
(3) fafaam wen
(4) T
Options:

878270142601. 1

878270142602. 2



878270142603. 3

878270142604. 4

Question Number : 42 Question Id : 87827036272 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the follnwing were established dur'mg the rule of East [ndia company in [ndia ?

(A) St.Stephen’s College, Delh

(B) Hislop College, Nagpur

(C) Fort William College, Calcutta
(D) Serampore College, Serampore
(E) Poona Sanskrit College, Pune

Choose the correct answer from the options given below :

(1) (A), (B) and (C) Only

() (B), (C) and (D) Only
(3) (A), (B) and (E) Only
4) (C), (D) and (E) Only
Options :

878270142605. 1
878270142606. 2
878270142607. 3

878270142608. 4

Question Number : 42 Question Id : 87827036272 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



YRd H 2 S Ifed FO & I § Fefatad @ 9 feget e g ot ?
(A) He wftrg Fiew, feeet

(B) fewemy e, TR

C) Wi faferam sicr, sl

Options :

878270142605. 1
878270142606. 2
878270142607.3
878270142608. 4

Question Number : 43 Question Id : 87827036273 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - 1 List - 11
(Committee/Commission) (Chairman)
(A) Scientific Manpower Committee (1947) ()  KL. Shrimali
(B) Committee on Higher Education in rural areas  (II) 5.5. Bhatnagar
(C) Committee on Model Act for universities, 1961 (I} Sunith kumar chatterji
(D) Sanskrit Commission (IV) D.S Kothari

Choose the correct answer from the options given below :
(1) (AHD), (B)-(I), (C-(), (D)-{IV)
(@ (A)HI, B0, (©)-(1v), (D))
(3 (1), (B)(IV), (1), (D)-(I)
( (

(A
) (A )
1) (AHIV), (BHIL), (CHIY, (D))

)
A)-
Options :
878270142609. 1
878270142610. 2
878270142611. 3

878270142612. 4

Question Number : 43 Question Id : 87827036273 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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( wfifer /2T ) (3reag)
(A) dafr Tt wfifa (1947) () e Foret
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(Q) Tovaforeri & fau wre sifvfem gaui ofuf, 1961 (1) 9FE FR =20
(D) HeFd S (IV) EL.TH. FRH
e faw T forredl 9§ W& SR H A HIC ¢

(1) (AL, (BRI, (C)-(I), (D)-{V)
(2)  (A)HI), B)-(1), (CHLV), (D))
(3)  (AHI), BHIV), (O(1), D}(I)
(4)  (AHIV), (B)(), (C)-(M), (D)-(1)
Options :

878270142609. 1

878270142610. 2

878270142611. 3

878270142612. 4

Question Number : 44 Question Id : 87827036274 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement [ ;  The ancient university of Sridhanya katak was situated on the banks of river
Yamuna.

Statement II :  Sridhanya katak attained celebrity as the seat of both Brahmanical and Buddhist
learning during the time of Siddha Nagarjuna.

In the light of the above statements, choose the most appropriate answer from the options given

below

(1) Both Statement I and Statement I are correct

2)  Both Statement I and Statement II are incorrect

3

4) Statement I is incorrect but Statement II is correct

(
(3) Statement I is correct but Statement Il is incorrect
(

Options:

878270142613. 1

878270142614. 2

878270142615. 3

878270142616. 4

Question Number : 44 Question Id : 87827036274 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270142613. 1



878270142614. 2
878270142615. 3

878270142616. 4

Question Number : 45 Question Id : 87827036275 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In 1948, under whose chaipersonship a University Commission was appointed with the purpose
of reconstruction of university education to meet the demand for scientific, technical and other
manpower needed for the socio-economic development of the country ?

(1) Dr. Zakir Husain

(2) Dr. 5 Radhakrishnan

(3) Dr. AL Mudaliar

(4) Dr. DS. Kothari

Options :

878270142617. 1

878270142618. 2

878270142619. 3

878270142620. 4

Question Number : 45 Question Id : 87827036275 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
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(2) €. T, T
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Options:



878270142617. 1
878270142618. 2
878270142619. 3

878270142620. 4

Sub-Section Number : 3
Sub-Section Id : 8782701532
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827036276 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Question Numbers : (46 to 50)

Question Label : Comprehension

Read the passage and answer the questions that follow :

Project Tiger turned 50 years recently. An often repeated headline was how the numbers have
increased from 2,967 individuals in 2018 to 3,167 in 2022. This hides the bitter truth : Indians
aren't going to compromise Western lifestyles for the survival of the Tiger. Most middle class Indians
would loathe to give up their second, investment home or driving to the hills on a multilaned
highway for the national animal.

You also can't change the needs of a tiger - it is a large, solitary animal. A female tiger needs
about 15 square kilometres with a good prey base. If she reproduces, those cubs will require
additional space. Data shows 30% of the tigers live outside protected areas, i.e in our midst. The
more we fragment their habitat with urbanization, highways and industrial parks, the more they
will be forced into unprotected areas.

Let's modify our approach. I advocate of three results by the 75th anniversary of project
Tiger. First, instead of endlessly increasing tiger population, India can iden t'Lfy and achieve a metric,
not much higher than the current numbers. Remember, 1000 tigers already roam around in farms
and villages, more will be a disaster. Second, let's better protect what we have. Keeping protected
tiger habitat undisturbed is key. Investment in keeping unprotected ecosystems intact should be
financially viable and part of Corporate Social Responsibility (CSR) and more. Third, reducing
confrontation with humans is essential. Monitoring and communications technology are key to
this. Compensation for live stock killed must be rapidly assessed and pegged to market rates. For
the next quarter century, let's think quality.

Sub questions



Question Number : 46 Question Id : 87827036277 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Over the last few years, the population of the tiger has :
(1) Decreased

(2) Remained static

(3) Increased

(4) Declined substantially

Options :

878270142621. 1

878270142622. 2

878270142623. 3

878270142624. 4

Question Number : 47 Question Id : 87827036278 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

An increase in tiger population will result in :

(1) Tigers killing each other

(2) Tigers dying

(3) Tigers posing a threat to the farms and villages nearly
(4) Tigers eating their own cubs

Options :

878270142625. 1

878270142626. 2

878270142627. 3

878270142628. 4

Question Number : 48 Question Id : 87827036279 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

“The bitter truth” refers to :

(1) Tigers living outside protected areas
(2) Human killing tigers

(3) The conflicting needs of human beings and tigers
(4) Tigers killing human beings

Options :

878270142629. 1

878270142630. 2

878270142631. 3

878270142632. 4

Question Number : 49 Question Id : 87827036280 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

According to the wiiter, one of the aims of project Tiger in the next quarter century should be :
(1) Increasing tiger population

(2) Training the tigers to live in a contained area

(3)  Protecting the existing tiger population

(4)  Ensuring that the government stops building highways
Options:

878270142633. 1
878270142634. 2
878270142635. 3
878270142636. 4

Question Number : 50 Question Id : 87827036281 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



According to the writer, the 75 Anniversary of project Tiger should not aim at the following :
(A) Keep the protected habitats infact

(B) Keep the tiger population about the same as at present

(C) Live stock killed by tigers should be adequately compensated for

(D) Focus on quantity instead of quality

Choose the correct answer from the options given below :

(1) (A)and (B) Only

@) () (C) and (D) Only

(3) (C) and (D) Only

4 () Only

Options :

878270142637. 1
878270142638. 2
878270142639. 3

878270142640. 4

Question Id : 87827036276 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 87827036277 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
forat e il # ST o we
(1) <hH o7 @
(2) ferafigs

(3) FeE®
(4) 9 firee e ©

Options :



878270142621. 1
878270142622. 2
878270142623. 3

878270142624. 4

Question Number : 47 Question Id : 87827036278 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
el =1 G ° gfg o ufomy g
(1) & 399 H Tk - O R AR o |
) TS T S |
) =TS freRead] @i ue el o faw way & S |
) 9T 39 T o IMaeh (F=di) o1 @ S |
Options :
878270142625. 1
878270142626. 2
878270142627. 3
878270142628. 4

Question Number : 48 Question Id : 87827036279 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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878270142629. 1
878270142630. 2
878270142631. 3

878270142632. 4

Question Number : 49 Question Id : 87827036280 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270142633. 1
878270142634. 2
878270142635. 3

878270142636. 4

Question Number : 50 Question Id : 87827036281 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270142637. 1
878270142638. 2
878270142639. 3

878270142640. 4

Performing Art (Compulsory)

Section Id : 878270879
Section Number : 2

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 46
Number of Questions to be attempted : 46

Section Marks : 100
Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time : 0

Sub-Section Number : 1



Sub-Section Id : 8782701533
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 51 Question Id : 87827036282 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which is the common factor between Nrtta and Nrtya according to the medieval
concept ?

(I) Rasishraya
(2) Adgavikshepa
(3) Anukruti

(4) Bhavashraya
Options :
878270142641. 1
878270142642. 2
878270142643. 3

878270142644. 4

Question Number : 51 Question Id : 87827036282 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

HERTC Hehedd] % STHR T4 3R T % ofd FHH FRE i 1 8 7

(1) TEig
(2) PnfaE
(3) STFM
(4) HEH
Options :

878270142641. 1



878270142642. 2
878270142643. 3

878270142644. 4

Question Number : 52 Question Id : 87827036283 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Among the following disciples of Ramananda who was a Rajput Prince ?
(1) Raidasa
5

(2
(3
(4

) Pipa

) Dhanna

) Sena
Options :
878270142645. 1
878270142646. 2
878270142647. 3

878270142648. 4

Question Number : 52 Question Id : 87827036283 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T o frefafed foel § 9 usrga ISR #E o1?

(1) ¥E
(2)
(3) o
(4 F
Options:

878270142645. 1

878270142646. 2



878270142647. 3

878270142648. 4

Question Number : 53 Question Id : 87827036284 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Trace the odd one out from among the following Epic characters :

(I) Sugriva

(2) Vali

(3) Shikhandi

(4) Hanumina
Options :

878270142649. 1
878270142650. 2
878270142651. 3

878270142652. 4

Question Number : 53 Question Id : 87827036284 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
freffefiga werme i # & S A 9h
(1) g
(2) =t
(3) TrEEl
(4) =IHH
Options :
878270142649. 1
878270142650. 2

878270142651. 3



878270142652. 4

Question Number : 54 Question Id : 87827036285 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which among the following artistic works did not blossom during the upper Paleolithic era ?
(1) Cave paintings

(2)

(3) Engravings on bone or ivory
(4)

Carvings

Earliest phase of tool making

Options :

878270142653. 1
878270142654. 2
878270142655. 3

878270142656. 4

Question Number : 54 Question Id : 87827036285 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
IR YU A % S FAfeEd § § S 5 Felrs Fid faemad Tl @ o 7
(1) TR
(2) ekt
(3) e = geft <A W T
(4) 39RO fmTo =R eifieER =R
Options:
878270142653. 1
878270142654. 2
878270142655. 3

878270142656. 4



Question Number : 55 Question Id : 87827036286 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Who among the following is credited of being the creator of ‘Bidesia’, the folk form of Bihar ?
(1)  Bhai Birodh

(2)  Shilanath Thakur

(3)  Bhikari Thakur

(4) Sharda Sinha

Options :

878270142657. 1

878270142658. 2

878270142659. 3

878270142660. 4

Question Number : 55 Question Id : 87827036286 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

forem o e w9 feefaar’ = oo €1 & 47 frefafag § § 59 smre?

(1) 9 foly

(2) ey 3R

(3) TorRRl 3T

(4) 9rEr
Options:

878270142657. 1
878270142658. 2
878270142659. 3

878270142660. 4



Question Number : 56 Question Id : 87827036287 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

To which state does, Tusu & Brita dance belnng ?
(1) Karnataka

(2) Maharashtra

(3) West Bengal

(4) Rajasthan

Options :

878270142661. 1

878270142662. 2

878270142663. 3

878270142664. 4

Question Number : 56 Question Id : 87827036287 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

99 3R ga1 9, Frfafea § 9 g tog 9 Hafua €72

(1) e

(2) Hell%

(3)  Hiv=H S

(4) TSEH
Options :

878270142661. 1
878270142662. 2
878270142663. 3

878270142664. 4

Question Number : 57 Question Id : 87827036288 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

To which state does, Mughal Tamasha & Dasakathia belong ?
(1) Assam

(2) Sikkim

(3) Uttarakhand

(4) Odisha

Options :

878270142665. 1

878270142666. 2

878270142667. 3

878270142668. 4

Question Number : 57 Question Id : 87827036288 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

I TH AR gqeRiad), Fefafea § | fog g 4 Hefua 82

(1) <9H

(2) Taferm

(3) STUEUS

(4) enfewm
Options:

878270142665. 1
878270142666. 2
878270142667. 3

878270142668. 4

Question Number : 58 Question Id : 87827036289 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What does “Mudi” in Mudiyettu refer to ?
(1) Kali's breast mask with serpent

(2) Kali's ferocious make-up
(3) Kali's heavy circular headgear
(4) The flower whose petals are pasted on Kali's forehead and face

Options :

878270142669. 1
878270142670. 2
878270142671.3

878270142672. 4

Question Number : 58 Question Id : 87827036289 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

gfcdee o ‘udl’ o1 9 4 ?

(1) TR I Tl ol ST

(2) =Tl =R 3 FURATYE

(3) Tl T HRI e pe

(4) =% g faaet dgfedr #el ¥ md w6 7 W At g §
Options :

8782701426609. 1
878270142670. 2
878270142671. 3

878270142672. 4

Question Number : 59 Question Id : 87827036290 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

According to the Natyashastra, such ornaments as are attached to the part of the body by fastening
like an anklet were known as :
(I) Bandhaniya

(2) Aropya

(3) Avedhya
(4) Prakshepya
Options :

878270142673. 1
878270142674. 2
878270142675. 3

878270142676. 4

Question Number : 59 Question Id : 87827036290 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
W%-ﬂwﬁmwﬁwﬁrmﬁwwﬂm;wmw o], 3% S 1 41 -
(1

s ]

’ %
|

4 &9

R

)
2)
)
4)
Options :
878270142673. 1
878270142674. 2
878270142675. 3

878270142676. 4

Question Number : 60 Question Id : 87827036291 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

According to the Nityashistra the imaginary zones created by the actor on the stage were known
as:

(I) Kutap
(2) Kakshyi
(3) Kiku

(4) Karana
Options :

878270142677. 1
878270142678. 2
878270142679. 3

878270142680. 4

Question Number : 60 Question Id : 87827036291 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

AT % AR 9 T A1 g IS SHredfeh &7 &l 30 el Tl & 2

(1) P9
(2) &
(3) F1%
(4) FW
Options :

878270142677. 1
878270142678. 2
878270142679. 3

878270142680. 4

Question Number : 61 Question Id : 87827036292 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

A kind of rupaka in which the story revolves around the scheming and planning of a hero in
pursuit of a divine women :

() Dima

(2) Ihimruga
(3

(

)
) Vyiyoga
4

Bhina
Options :
878270142681. 1
878270142682. 2
878270142683. 3

878270142684. 4

Question Number : 61 Question Id : 87827036292 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

¥ F 0 TR o o O & o ¥ o T & wrfer o e § & K wer @
faﬂm’mﬂ

(1) Tem
2
(3)
)

§§§

Options :

878270142681. 1
878270142682. 2
878270142683. 3

878270142684. 4

Question Number : 62 Question Id : 87827036293 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

"Art is thesis, religion is antithesis and philosophy is synthesis”. Whose words are these ?

1) Kant

2) Addison

3) Hegel
)

4) Socrates

(
(
(
(
Options :

878270142685. 1
878270142686. 2
878270142687. 3

878270142688. 4

Question Number : 62 Question Id : 87827036293 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

el HYHIOn 7, e wfastiiemon & o geq gyemm 21 3 v e €2

(1) e
(2) TUfeHT
(3)
(4) HiheE

Options :

878270142685. 1
878270142686. 2
878270142687. 3

878270142688. 4

Question Number : 63 Question Id : 87827036294 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

"Art awakens, nourishes and strengthens feelings and passions which constitute the irrational
aspect of human soul, hence art is also irrational”. Whose words are these ?

(1) Socrates

(2) Homer
(3) Plato
(4)  Croce
Options :

878270142689. 1
878270142690. 2
878270142691. 3

878270142692. 4

Question Number : 63 Question Id : 87827036294 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

"5 WRIVTGN ST AT 1 S STl ¢ WO S S GGG A &, S 6 S o ST 0 A
TR e &, FAferT e oft T %14 9 e € |

(1) ke

) W
3) @@
4y #H

Options :

(
(
(

878270142689. 1
878270142690. 2
878270142691. 3

878270142692. 4

Question Number : 64 Question Id : 87827036295 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Which colour Bharata assigns to, ‘Shringara Rasa” ?

(1) Gaura

(2) Shyama

(3) Nila

(4) Kapota
Options :

878270142693. 1
878270142694. 2
878270142695. 3

878270142696. 4

Question Number : 64 Question Id : 87827036295 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

0 A ' TR W % e wE w T (Svf) fAuif R g

(1) TR
(2) va™
(3) e
(4) U
Options :

878270142693. 1
878270142694. 2
878270142695. 3

878270142696. 4

Question Number : 65 Question Id : 87827036296 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Who is the presiding deity of ‘Adbhuta Rasa” according to the Natyashistra ?

(1) Rudra
(2) Kala

(3) Yama
(4) Brahma
Options:

878270142697. 1
878270142698. 2
878270142699. 3

878270142700. 4

Question Number : 65 Question Id : 87827036296 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

AT o STTHR 3G T’ oF Y& <l A & ?

(1) *=
(2) T
(3) ¥
(4) &N
Options :

878270142697. 1
878270142698. 2
878270142699. 3
878270142700. 4

Question Number : 66 Question Id : 87827036297 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Among the following which one is a shadow puppet theatre of Indonesia and Malaysia ?
(1) Pansori
o

(3) Huaju
(4)  Wayang Kulit

Mua roi nuoc

Options:

878270142701.1
878270142702. 2
878270142703. 3

878270142704. 4

Question Number : 66 Question Id : 87827036297 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

frefefaa § 9 sverRim SR wafim &1 3 Feqret tme (F8 v fp) #Rme?
TS

Options :

878270142701. 1
878270142702. 2
878270142703. 3

878270142704. 4

Question Number : 67 Question Id : 87827036298 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



In which of the fDllnwing forms is the drum, Kotsuzumi, pla}red ?
(I) Piying xi
(2) Noh

(3) Pyolsandae
(4) Wa}fang Kulit
Options:
878270142705. 1
878270142706. 2
878270142707. 3

878270142708. 4

Question Number : 67 Question Id : 87827036298 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

freferfiad o 9 forq el &9 9 g0 (I =T2) sHIcgSHl SIS Sl € 2

(1) fufam s

() &

(3) AR

(4) ST Ferd
Options :

878270142705. 1
878270142706. 2
878270142707. 3
878270142708. 4

Question Number : 68 Question Id : 87827036299 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



What is Dan in Chinese Opera ?

(1) Male characters drawn closely from life
(2) Female characters

(3) Larger than life male characters
(4) Comic or despicable characters
Options:

878270142709. 1

878270142710. 2

878270142711. 3

878270142712. 4

Question Number : 68 Question Id : 87827036299 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

= 2O H S R ?

(1) Sfed | 9Ra q%9 9
2) Tl e

(3) Sl ¥ gETl [y 9T
(4) BRETEE A1 75 UH

Options :

878270142709. 1
878270142710. 2
878270142711.3

878270142712. 4

Question Number : 69 Question Id : 87827036300 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which among the follnwing is the generic term used for L‘ljalogue plays of China written in western
style ?

(I) Jingx

Options:

878270142713. 1
878270142714.2
878270142715.3

878270142716. 4

Question Number : 69 Question Id : 87827036300 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Ve Yelt § a9 o Fere Ao & fo, fvfaten o 9 ey S ve & wm fe s o

Options :

878270142713. 1
878270142714.2
878270142715.3

878270142716. 4

Question Number : 70 Question Id : 87827036301 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which among these is a dance-drama of Cambodia ?

(1) Kich Noi

(2) Komatsu Mikio
(3) Trot

(4) Kunqu
Options:

878270142717. 1
878270142718. 2
878270142719. 3

878270142720. 4

Question Number : 70 Question Id : 87827036301 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Falfedl F JA-Tew Ffafead 7 9 &[98 ?

1 R
(2) =hmey fafRn
(3) e
4) F%F
Options :

878270142717. 1
878270142718. 2
878270142719. 3
878270142720. 4

Question Number : 71 Question Id : 87827036302 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which one among the following is not a role type in Noh of Japan ?

(I) Shite
(2) Waki
(3) Kkoktu
(4) Kokata
Options:

878270142721. 1
878270142722. 2
878270142723. 3

878270142724. 4

Question Number : 71 Question Id : 87827036302 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frefafaa o @ %@ a1 s Ae o gfges 1 9ER 76 © 2

(1) Fora
(2) aTehl
(3) FHE
(4) IR
Options :

878270142721. 1
878270142722. 2
878270142723. 3

878270142724. 4

Question Number : 72 Question Id : 87827036303 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The two square areas on either side of the rangapitha each hauing four piJlars, one in each of its
corners, in Bharata's theatre was known as :

(I) Rangashirsha

(2) Shaddaruka
(3) Mattavirani
(4) Vedika
Options:
878270142725. 1
878270142726. 2
878270142727. 3

878270142728. 4

Question Number : 72 Question Id : 87827036303 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

W & T H TS 3 W T W feem ) aiem 4 o e o o a W A & R ferm v o

Options :

878270142725. 1
878270142726. 2
878270142727.3

878270142728. 4

Question Number : 73 Question Id : 87827036304 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Identify three One Act rupaka from among the following :
(A) Nataka

(B) Vithi
(C) Vyiayoga
(D) Bhina

(E) Samavakira

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only

() (), (C) and (D) Only

(3) (A), (D) and (E) Only

(4) (O), (D) and (E) Only

Options :
878270142729. 1
878270142730. 2

878270142731. 3

878270142732. 4

Question Number : 73 Question Id : 87827036304 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frefafes § § €9 iR w1 fafea Fifw)
(A) TEH

(B) ity

(C) =AM

(D) s

(E) HHIASRN

H3 faw U foreredl © © WE SR H =99 FC -
(1) 9 (A), (B) TR (C)

(2) %94 (B), (C) &R (D)

(3) e (A), (D) SR (E)

(4) % (C), (D) ¥R (E)

Options :

878270142729. 1

878270142730. 2

878270142731.3

878270142732. 4

Question Number : 74 Question Id : 87827036305 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Identify three characteristics of Nitya as per its mythological origin as described in the
Nityashistra :

(A) Kridaniyaka

(B) Agma

(C) Pancham Veda

(D) Goshthi

(E) Sirvavarnika

Choose the correct answer from the options given below :

(1) (A), (B) and (C) Only

@ ®) (0 and () Ony
(3) (C]; (D) and (E) Onhr
(4) (A), (C) and (E) Only

Options:

878270142733. 1
878270142734. 2
878270142735. 3
878270142736. 4

Question Number : 74 Question Id : 87827036305 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Tegare § afof freet seafa % oFER Mg & 9 e 1 fafe Fife)

(A) wHietE®

(B) 4mH

(C) =W T

(D) et

(E) greafiiE

19 fou u fosedi § 9§ W SR F T FHeU
(1) %9 (A), (B) 3R (C)
(2) e (B), (C) 3 (D)
(3) e (C), (D) &R (E)
(4) ¥ (A), (O ¥R (B)
Options :

878270142733. 1
878270142734. 2
878270142735. 3

878270142736. 4

Question Number : 75 Question Id : 87827036306 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which among the following are the characters of Cilappatikaram ?
(A) Kovalan

(B) Padmavati
(C) Kapila
(D) Kannagi

Choose the correct answer from the ﬂptiuns given below :

(1) (A)& (C) Only
(2) (A) & (D) Only
(3) (B) & (C) Only
(4) (B) & (D) Only



Options :

878270142737. 1
878270142738. 2
878270142739. 3
878270142740. 4

Question Number : 75 Question Id : 87827036306 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Yermfarry & o Frefafaa S a9 am A €2

(A) “RiEc

(B) el

(C) wfue
(D) =Tl
A= feu 7T ferredi # € W& IO 1 FIH HifaC
(1) I (A) $R (C)
() A (A) R (D)
(3) ¥ (B) ¥R (C)
(4) ¥ (B) ¥R (D)

Options:

878270142737. 1
878270142738. 2
878270142739. 3
878270142740. 4

Question Number : 76 Question Id : 87827036307 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which among the following forms belongs to Kerala ?
(A) Danda Nata

(B) Mudiyettu

(C) Namagen

(D) Kummi

(E) Oggu Katha

Choose the correct answer from the options given below :
(1) (A) & (B) Only

(2) (B) & (C) Only

(3) (B) & (D) Only

(4) (O & (E) Only

Options:
878270142741. 1
878270142742. 2

878270142743. 3

878270142744. 4

Question Number : 76 Question Id : 87827036307 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frafafas & ¥ $9 | w1 ®9 0 ¥ Gafed €2
(A) T8

(B) Hfeaeg

(E) S

A few o faeredl § ¥ T8 SR @ =99 FC
(1) ad (A) 3R (B)

(2) = (B) 3R (O)

(3) Faa (B) 3R (D)
(4) A (C) 3R (E)
Options :

878270142741. 1
878270142742. 2
878270142743. 3

878270142744. 4

Question Number : 77 Question Id : 87827036308 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which two among the following are from Manipur ?
(A) Kariyala

(B) Thabalchongba

(C) Chancheri

(D) Maibi

(E) Barada Nati

Choose the correct answer from the options given below :
(1) (A) & (B) Only

() (B) & (C) Only

(3) (B) & (D) Only

(4) (O & (E) Only

Options:
878270142745. 1
878270142746. 2

878270142747. 3

878270142748. 4

Question Number : 77 Question Id : 87827036308 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



freferfed & | M 9 & 7forge § €7

(A) HTA
(B) gad ditan
(C) ==
(D)

(E) @I el

% faw o famedi # ¥ W TR F =TI FIAC -
(1) I (A) TR (B)

(2) = (B) 3R (O)

(3) I (B) 3R (D)

(4) = (C) ¥R (E)

Options :

878270142745. 1

878270142746. 2

878270142747. 3

878270142748. 4

Question Number : 78 Question Id : 87827036309 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



According to Bharata there are two kinds of Prahasana, they are :
(A) Vikruta

(B) Margi

(C) Shuddha

(D) Sankirna

(E) Desi

Choose the correct answer from the options given below :
(1) (A) and (B) Only

(2) (C) and (D) Only

(3) (B) and (C) Only

(4) (D) and (E) Only

Options:

878270142749. 1
878270142750. 2
878270142751.3

878270142752. 4

Question Number : 78 Question Id : 87827036309 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



W o SATHR WeHT o 1 YW Bl © |
¥
(A) fozd
(B) R
C) I
(D) eI
(E) <t
= fou v fasredi § ¥ 9 SO &1 9949 Fife
(1) I (A) TR (B)
(2) %99 (C) ¥R (D)
(3) 9w (B) 3R (O)
(4) e (D) ¥R (E)
Options:
878270142749. 1
878270142750. 2
878270142751. 3
878270142752. 4

Question Number : 79 Question Id : 87827036310 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Two important aspects of Leo Tolstoy’s theory of communication are :
(A) Selective Imitation

(B) Religious Perception of the Age
(C) The Infectiousness of Art
(

(

D) Pleasure of Imagination

E) Beautiful [llusion

Choose the correct answer from the options given below :
(1) (A)and (B) Only

(2) (B) and (C) Only
(3) (C) and (D) Only
(4) (D) and (E) Only

Options:

878270142753. 1
878270142754. 2
878270142755. 3
878270142756. 4

Question Number : 79 Question Id : 87827036310 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



forn Zrereta < Hyuvl fagid % §1 Heeqol 94 € :
(A) TEATHE STTHI

(B) g7 =1 ek &Y

(C) el =hl GehrHahdl

(D) hcd l &1 A<

(E) THOME 9|

) faw o faeredl § ¥ Tl IR @ =9 FifC
(1) I (A) TR (B)

(2) = (B) 3R (O)

(3) W (C) ¥R (D)

(4) 9 (D) ¥R (E)

Options :

878270142753. 1
878270142754. 2
878270142755. 3

878270142756. 4

Question Number : 80 Question Id : 87827036311 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Plato deals with the problem of Aesthetics by attempting it from three angles of vision. Which are
they ?

(A) Aesthetical

(B) Biophysical

(C) Ethical

(D) Metaphorical

(E) Metaphysical

Choose the correct answer from the options given below :
(1) (A), (C) and (E) Only

(2) (A), (B) and (D) Only

(3) (C), (D) and (E) Only

(4) (A), (B) and (C) Only

Options :

878270142757. 1
878270142758. 2
878270142759. 3

878270142760. 4

Question Number : 80 Question Id : 87827036311 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



gfte o 1 I | %l G<AvTS i G0 # fodem wd €1 dRA Y E?
gl (FeAIh)

(A)

(B) Stavifde

(C) ifeameia

(D) enerfore

(E) i

= fou o foeredi § @ W@ SR 1 99 i
(1) 5 (A), (C) 3 ()
(2) 9 (A), (B) 3R (D)
(3) #Fad (C), (D) #R (E)
(4) e (A), (B) 3R (C)
Options :

878270142757. 1
878270142758. 2
878270142759. 3

878270142760. 4

Question Number : 81 Question Id : 87827036312 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The process of catharsis deals with two basic emotions, which are they ?
( Anxiety

( Pity

(C) Fear

(D) Anger

(E) Laughter

Choose the correct answer from the options given below :
(1) (A) and (B) Only

(2) (B) and (C) Only
(3) (C) and (D) Only
(4) (D) and (E) Only

Options:
878270142761. 1
878270142762. 2

878270142763. 3

878270142764. 4

Question Number : 81 Question Id : 87827036312 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



fa=r =1 ufehan < garya srei § Hatea 2t 1 o
(A) gfes

(B) UM

(C) Y4

(D) Y

(E) @4

H3 faw U foreredl © © WE SR H =99 FC -
(1) 9 (A) iR (B)

(2) %99 (B) ¥R (Q)

(3) 9 (C) X (D)

(4) e (D) IR (E)

Options :

878270142761. 1

878270142762. 2

878270142763. 3

878270142764. 4

Question Number : 82 Question Id : 87827036313 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which two among the following are goddesses connected with legendary origins of Japanese

theatre ?
(A) Sangku

)

(C) Amaterasu
(

(

Sarugaku

D) Hanamichi
E) Ame nouzume

Choose the correct answer from the options given below :
(I) (A) & (B) Only

0 ()&(CO0ny

(3)  (C) & (D) Only

) (0 (E)Ony

Options:

878270142765. 1

878270142766. 2

878270142767. 3

878270142768. 4

Question Number : 82 Question Id : 87827036313 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



e 5 9 %A < Sfoai € S foraed SrER S T S 3et 9 S8 €
(A) |

(B) ErEE

(C)  STHTRRY

(D) EFIfA=R

(E) UH A

3 e o el § | W SR 1 =R I
(1) 9 (A) 3R (B)

() a4 (B) 3R (C)

(3) 9 (C) &R (D)

(4) A (C) I (E)

Options :

878270142765. 1
878270142766. 2
878270142767. 3

878270142768. 4

Question Number : 83 Question Id : 87827036314 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which two among the following are Performing Arts of Japan ?

(A) Goulan

(B) Kyogen

(C) Pansori

(D) Kagura

(E) Lakon nok

Choose the correct answer from the options given below :
(1) (A) & (C) Only

(2) (A) & (D) Only

(3) (B) & (D) Only

(4) (B) & (E) Only

Options:

878270142769. 1
878270142770. 2
878270142771.3

878270142772. 4

Question Number : 83 Question Id : 87827036314 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



= | R 9t 81 ST9E 1 YeyE Fen € 2

(A) e
(B) AN
(C) 'R
(D) <krTa
(E) @RI

% faw o famedi # ¥ W TR F =TI FIAC -
(1) ad (A) 3R (C)

(2) A (A) IR (D)

(3) I (B) 3R (D)

(4) 9 (B) 3R (E)

Options :

878270142769. 1

878270142770. 2

878270142771.3

878270142772. 4

Question Number : 84 Question Id : 87827036315 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - 11
(A) Pathya (I) Atharvaveda
(B) Geet (II)  Yajurveda
(C) Abhinaya (III) Samaveda
(D) Rasa (IV) Rigveda

Choose the correct answer from the options given below :
(1) (AHIV), (B, (CHID, (D)-()

(2)  (A)-(D), (B)-(IV), (C)-(ILT), (D)-(ID)

3 (A)-, B-0), ©-1V), (D)

(4) (A, (B)-(1D), (©)-), (D)-(IV)

Options :

878270142773. 1

878270142774. 2

878270142775. 3

878270142776. 4

Question Number : 84 Question Id : 87827036315 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Teil-1 8 gHt-11 =1 e s .
Ti-1 TqEi-11
(A) HTS () HIeag
(B) T (I) a9elT
(©) erfar () HHag
(D) ™ (IV) Hag

9 feu o fawedi § 9 @& SO & 999 Fife ;
(1)  (A)~(IV), (B)~(IIL), (C)~(1D), (D)-(I)
(2)  (A)-(D), (B)-(IV), (C)-(L1), (D)-(II)
(3) (A1, (B)-(I), (O)-(IV), (D)~(11ID)
(4) (A)-(I), (B)~(1D), (C)-(L), (D)-(1V)



Options :

878270142773. 1
878270142774. 2
878270142775. 3

878270142776. 4

Question Number : 85 Question Id : 87827036316 Question Type : MCQ Option Shuffling :

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List - I with List - IL.
List - 1 List - 11
Characteristics Type of Rupaka
(A) A type of rupaka which has three kinds of Kapata- () Naaka
deception, three kinds of Vidrava-flight and three
kinds of Sringara-love, depicted in three acts
(B) A type of rupaka in which the poet builds by his (II) Bhana
own creative power the dramatic plot, having
brahmin, merchant, counsellor, domestic
priest as hero
(C) A type of rupaka whose subject is a well known plot-  (Ill) Samavakira
material, the hero equally well known and exalted and
is properly equipped with a number of acts (aika)
(D) A type of rupaka which is acted by one actor, through (IV) Prakarana
the device of “skylogue - dkashbhasit’, ‘having only one
act (anka)
Choose the correct answer from the options given below :
() (AHID, B, ©-1V), (D0
(2) (A, BHIV), (O-(1), (DHI)
(3)  (AHIV), (B)-(D) (C)-(I), (D)
(4) (A

(A
(A
4)  (AH1), (BRI, (O-(Im), (D)-(IV)

7
A)-
Options :

878270142777. 1

No



878270142778. 2
878270142779. 3

878270142780. 4

Question Number : 85 Question Id : 87827036316 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Teit-1 9 -1 1 frer i
Teit-1 TEft-11
EEEGIY T o TR
(A) T YRR 1 &9 5 i ofi 7 b () eH
TN % HUE, T FhR o fogd &R dF
TR & TR et 2 €|
(B) U YR I Tk fTGW Hfal 391 T ()
vl g1 e FAF 1 Ffifa e & foed
HE §
(C) TF Yo I T foruern fowa gfoema wraeg e e, (I) TWaR
o7 oft 7 ¥ forerm 9 9 2 € o 5a
HEEAE
(D) T YR 1 T9F foTa Fae U 37 e & iR 0 (IV) WeRTo
FHE S SRS TG ok HeAw ¥ S S 2
A feu o fowredi ¥ @ W SR & T FC

(1) (A, B)-{), ©-1V), (D))
(2) (A, B}-(IV), (CHD), (DHI)
(3) (V). (B)-{1), (C)-(L), (D))
( (

(A
(A
4)  (A)HD), (B)-(I), (O)-(Lm), (D)-(IV)

)-
A)-
Options :
878270142777. 1



878270142778. 2
878270142779. 3

878270142780. 4

Question Number : 86 Question Id : 87827036317 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List -1 List - II
Region Pravritti
(A) It denotes the northern region (I) Dakshinatya

(B) It denotes the central western region (II) Odra-migadhi
(C) It denotes the eastern region (Ill) Avant
(D) It denotes the southern region (IV) Panchali

Choose the correct answer from the options given below :
(1) (A, (B)-(1), (O)-(1V), (D)-(I)

(2) (A, (B)(ID), (O)-(D), (D)-(1V)

(3)  (A)-(IV), (B)-(IL), (C)-(11), (D)-(I)

4) (A)(D), (B)-(IV), (C)-(II), (D)-(II)

Options :

878270142781. 1

878270142782. 2

878270142783. 3

878270142784. 4

Question Number : 86 Question Id : 87827036317 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 9 gEit-11 =1 e s .

-1 TH-11

& LEIN
(A) I ST & H1 =T ¢ | () <o
(B) I WeH Uiyl &% I HIaF ¢ | (I) 31 AT
(C) I8 gt &5 1 Hiae ¢ | (1) SATer=
(D) I@ Sf&goit &3 =R HIde 2 | (IV) di=meft

e feu o faeredi § © WaEr SO &1 =999 F
(1) (A)-(1D), (B)-(I), (C)-(1V), (D)~(II)
(2) (A=), (B)-(1D), (O)-(1), (D)-(IV)
(3) (A)-(IV), (B)-(LIT), (CO)(IL), (D)-(I)
4) (A)-(D), (B)-(IV), (C)-(1LI), (D)-(I)

Options :

878270142781. 1
878270142782. 2
878270142783. 3

878270142784. 4

Question Number : 87 Question Id : 87827036318 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I

List - I List - 11
(A) It is of two kinds, Daiviki and Manushi ()  Atodya
(B) It denotes instrumental music that goes hand (I) Kutapa

in hand with nitya enactment
(C) The musical orchestra and also a place where (III) Siddhi
the musicians sit
(D) Two distinct styles of Abhinaya and Play production  (IV) Dharmi
Choose the correct answer from the options given below :

(1) (A, (B)-(I), (CR(I), (D)-(V)

(&) (AHIV), (BHID), (C)-(), (D)D)
(3)  (AHD, (B, (C-(1V), (D)-(L)
(@) (A, B}-IV), (C)-0), (D)-(II)
Options :

878270142785. 1
878270142786. 2
878270142787. 3
878270142788. 4

Question Number : 87 Question Id : 87827036318 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 9 -1 = e i

Tt-1 81|
(A) ¥ T YR ! oIl &, Sfehl o WA () T
(B) & arerdHA™ Giitd o1 Fifad &dl € il (I) Fag

reg W o | o ¢ |
(C) i arEmeEd HR Hifiasl & oS o A (1 fafs
(D) 999 9 A12d T=qfa &1 <1 Y¥F e (Iv) ot

= feu U fomredi § § W& ST 1 99 FHieIT
(1) (A)-(I), (B)-(I), (O-(II), (D)-(IV)

(2)  (AAIV), (B)-(1I), (C)-(I1D), (D)-(D)

(3)  (A)-(D), (B)-(III), (COR(IV), (D)-(ID)

4) (A1, (B)-(1V), (O)-(), (D)-(1)
Options :

878270142785. 1
878270142786. 2
878270142787. 3

878270142788. 4

Question Number : 88 Question Id : 87827036319 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - II
(A) Bangsawan (I)  Srilanka
(B) Sarsuwela (II) Vietnam
(C) Sokari (IIT) Philippines
(D) Cheo (IV) Malaysia

Choose the correct answer from the options given below :
(1) (A)-(IL), (B)-(1V), (C)-(1D), (D)-(I)

(2)  (A)-(ID), (B)-(D), (O)-(IV), (D)~(1IL)

(3)  (A)-(I), (B)-(1I), (C)~(IID), (D)-(IV)

(4)  (A)-(IV), (B)(IIL), (C)-(1), (D)-(I)

Options:

878270142789. 1

878270142790. 2

878270142791. 3

878270142792. 4

Question Number : 88 Question Id : 87827036319 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TeAt-1 9 g1 # e wifs .

Teil-1 Teit-11
(A) sged () i
(B) HHeIeT @ o™
(C) Erepd (II1) e
(D) Ta=d (IV) HARmE

"= feu 7o fowedi § 9 9& SO & 999 Hife
(1) (A1), (B)~(IV), (C)~(1T), (D)-(I)
(2)  (A)-(ID, (B)-(1), (O)-(IV), (D)~(11I)
(3) (A1), (B)-(II), (O)~(IIL), (D)-(IV)
(4)  (A)-(IV), (B)~(IID), (C)-(D), (D)-(1I)



Options :

878270142789. 1
878270142790. 2
878270142791. 3

878270142792. 4

Question Number : 89 Question Id : 87827036320 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Give the correct sequence of the f ollowing items of Purv aranga which are suppnsed to be perfm‘med
‘antar yavanika' not before the spectators :
A) Avatarana
B) Adrivana

(
(
(C) Pratyihira
(
(

e

D) Arambha
Vakirapini
Choose the correct answer from the options given below :

1) (&), 0) E) )

@ (© (4) ) (B)E)
(3) (D) () E) (©) (A)
@ () (€ (A) D) ®)
Options:

878270142793. 1
878270142794. 2
878270142795. 3

878270142796. 4

Question Number : 89 Question Id : 87827036320 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



et i1 1 ) 1 e o i, R ot & Tme e ot | et & w0 ¥ e fon
T T
(A) e

Options :

878270142793. 1
878270142794. 2
878270142795. 3
878270142796. 4

Question Number : 90 Question Id : 87827036321 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Give the correct sequence of the following terms as they appear in Bharata's famous Rasasutra :
(A) Vyabhichari
(B) Vibhava
(C) Saiyogid
(D

(

Rt

) Anubhiva
E) Rasanishpatti
Choose the correct answer from the options given below :
(1) (), (D), (A), () (E)
@ (€, (E), (B), (D), (A)
(®) ©) (A) ©), (E) (B)
(4) () () (D) (4) (€

Options:
878270142797. 1
878270142798. 2

878270142799. 3

878270142800. 4

Question Number : 90 Question Id : 87827036321 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

WA F WG W g ° f9= ue F 3o 1 UE ST Jaiy
(A) =AfT=ER

(B) fawm

(C) HArg

(D) HIHE

(B) TEioIf

Ir= feu 7o foredl 9@ W& ST & 999 Fif9T
(1) (B), (D), (A), (©), (E)

(2)  (©), (E), (B), (D), (A)

(3) (D), (A), (©), (E), (B)

(4) (E), (B), (D), (A), (©)



Options :

878270142797. 1
878270142798. 2
878270142799. 3
878270142800. 4

Question Number : 91 Question Id : 87827036322 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Find the correct sequence of the forms according to their geographical origin from East to West :
(A) Sinakulo

(B) Zat pwe

(C) Cai Luong

(D) Lakhon Khol

Choose the correct answer from the options given below :

(1) () (B) A)©)

@) (), 4) (€ [D)
@) (A) ©, (D) B
@) (©), (D) (B), (A)
Options:
878270142801. 1
878270142802. 2
878270142803. 3

878270142804. 4

Question Number : 91 Question Id : 87827036322 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frefferfaa w0 1 STa e 7w & SR W & e &1 3R 9 W A T
(A) farge

(B) S

(C) = g

(D) MEH @

4= fou U fomedi # 9 WE I 7 i

(1) (D) (B), (&), ©

Options:

878270142801. 1
878270142802. 2
878270142803. 3

878270142804. 4

Question Number : 92 Question Id : 87827036323 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Find the correct sequence of the forms according to their geographical origin from East to West of
India :

(A) Bidapat Nautch

(B) Sumang leela

(C) Deodhani

(D) Maanch

Choose the correct answer from the optinns given below :

(1) (&), ®) D) €

@ (© ) ®) @
() @) (4) ©) B)
(4) () (C) (A) (D)

Options :



878270142805. 1
878270142806. 2
878270142807. 3

878270142808. 4

Question Number : 92 Question Id : 87827036323 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frre el ¥ 1 G % T ofiem SR 3 e S o SRR We Y M W R

(4)

(B)

Q) awﬁ
(D) W=
m%iﬁqnqﬁmﬁaﬂiiﬁ1ﬁﬁsﬁtaﬂ1ﬂﬂaﬁﬁq
(1) (A) @) (D), €
) (©, (D) B), (&)
() @) (A)© (B
(4 ®).(C) (A) D)

Options :

)
)
)
4
878270142805 1
878270142806. 2
878270142807. 3

878270142808. 4

Question Number : 93 Question Id : 87827036324 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements

Statement I:  Bharata recommends medium type of theatres for most types of performances.

Statement I1:  He says, “It is the best because then you can hear the speech and also see the
bhivibhinaya in the best manner”

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4)  Statement | is incorrect but Statement Il is correct

(
(3)  Statement I is correct but Statement II is incorrect
(

Options:

878270142809. 1

878270142810. 2

878270142811. 3

878270142812. 4

Question Number : 93 Question Id : 87827036324 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A4 @ A UM E

FIRL: ST R 1 T g S A WA TR A A H S # 2

TR 3 Fed €, 7 Tt ¢ il 7@ ST A o T Wkl & SR Telley o0 A e 3 oE
T g

TR FoF % e §, e fow T foered § 9 W S T A

(1) ISR BRI T

() TR SR HIR 11 e

(3) R IT T o FIF T ¢

(4 R LTI &, Tl B 1R

Options :

878270142809. 1

878270142810. 2



878270142811. 3

878270142812. 4

Question Number : 94 Question Id : 87827036325 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I:  The objective world, according to plato, is nothing but ‘reflection’ of the world of
ideas on ‘matter’ and a product of art is but a reflection of a natural object.

Statement Il :  The theories of reflection and imitation in art are closely related. For, reflection is
the guiding principle of an imitative artist. He presents in his work as much of an
object of nature as is perceptibly reflected on a smooth surface like that of water
or mirror. Plato, therefore, substitutes the word "imitation’ for ‘reflection’.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct
(2) Both Statement I and Statement I are incorrect
(3) Statement [ is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement II is correct
Options :

878270142813. 1

878270142814. 2

878270142815. 3

878270142816. 4

Question Number : 94 Question Id : 87827036325 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270142813. 1
878270142814. 2
878270142815. 3

878270142816. 4

Question Number : 95 Question Id : 87827036326 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : one is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) : In medieval Japan, writing about drama was intended solely for transmitting
artistic traditions from masters to disciples.

Reason (R):  In medieval Japan, drama was only part of worshipping God and Goddesses
inside the temples.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4)  (A) is not correct but (R) is correct

Options:

878270142817. 1

878270142818. 2

878270142819. 3

878270142820. 4

Question Number : 95 Question Id : 87827036326 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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878270142817. 1
878270142818. 2
878270142819. 3

878270142820. 4

Sub-Section Number : 2
Sub-Section Id : 8782701534
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827036327 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Question Numbers : (96 to 100)

Question Label : Comprehension

Read the following passage and answer the questions given below :

Buddhism in India
If inscriptions and remains of shrines of our period are any guide, Buddhism was the dominant
teligion in India during the five centuries following Ashoka (C. 200 BC to AD 300). As it expanded
and won the allegiance of an increasing number of people in practically all parts of the country, it
also underwent some changes in its basic beliefs and practices, particularly manifested in the
emergence of the great divisions of its followers into the sects of the Theravida, or orthodox ‘creed

of the seer’, and the Mahz'lyﬁna, "the Great Vehicle',

The Theravada positions are stated with the utmost clarity and rigour in the Pali text Milindapaiio,
in which the monk Nagasena answers the often sharp questions of the Greek king Milinda
(Menander). There is no soul (anatta), no individual identity in births and rebirths; and one gains
liberation (nibbina) from the life cycle only by one’s own karma (or deeds) and not by the grace of
anyone. At the same time there was in the Buddhist tradition great room for compassion, of which
the principle of ahirsa was one indication. This also led to stories of Gautama Buddha's acts of
compassion in his own lifetime and in previous incarnations, as narrated in the Jaaka tales, which
became so popular a part of Buddhist lore and by second century BC were being represented in
stone, with Prakrit labels, in the sculptures of Bharhut. The principles and morality of the Theravada
were summed up in the very influential text, the anonymous Dhammapada, which is a collection
of the Buddha’s sayings systematically arranged. It was composed probably in a form of Prakrit by
first century AD and now exists in Pali, while there is a longer Sanskrit version, Udinavarga,
supposed also to be of very early date.

Sub questions



Question Number : 96 Question Id : 87827036328 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

According to passage, in which text are Theravada positions stated with utmost clarity and rigout
i Pali ?

(1) Sambhitas

(2) Aranyakas

(3) Panchatantra
(4) Milindapanho
Options :

878270142821. 1
878270142822. 2
878270142823. 3

878270142824. 4

Question Number : 97 Question Id : 87827036329 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Jataka tales’, which are popular part of Buddhist lore were represented in stone, with Prakrit
labels at :

(1) Bhimbhetaka
(2) Bharhut

(3) Ellora

(4) Ajanta
Options :

878270142825. 1
878270142826. 2
878270142827. 3

878270142828. 4



Question Number : 98 Question Id : 87827036330 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In which text the principles and morality of Theravada were summed up ?

(I) Dhammapada
(2) Anatta

(3) Nibbana

(4) Jataka tales

Options :

878270142829. 1
878270142830. 2
878270142831.3

878270142832. 4

Question Number : 99 Question Id : 87827036331 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

During which perind, Buddhism was a dominant 1'eligi(m in India ?
(1) Four centuries following Ashoka

(2) Five centuries following Ashoka
(3) Three centuries following Ashoka
(4) Seven centuries following Ashoka

Options :

878270142833. 1
878270142834. 2
878270142835. 3

878270142836. 4

Question Number : 100 Question Id : 87827036332 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Accm‘djng to the passage, which among the [ollowmg are divisions of Buddhist sects of its
followers ?
(I) Dhammapada and Udanavarga

2

(2) Theravada and Dhammapada
(3) Theravada and Mahayana
g

4)  Mahayana and Milindapanho
Options :

878270142837. 1
878270142838. 2
878270142839. 3

878270142840. 4

Question Id : 87827036327 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (96 to 100)

Question Label : Comprehension
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Sub questions

Question Number : 96 Question Id : 87827036328 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
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Options :
878270142821. 1

878270142822. 2



878270142823. 3

878270142824. 4

Question Number : 97 Question Id : 87827036329 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270142825. 1
878270142826. 2
878270142827.3

878270142828. 4

Question Number : 98 Question Id : 87827036330 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270142829. 1
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878270142831. 3

878270142832. 4

Question Number : 99 Question Id : 87827036331 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270142833. 1
878270142834. 2
878270142835. 3
878270142836. 4

Question Number : 100 Question Id : 87827036332 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(2) 9w SR IS
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Options:

878270142837. 1

878270142838. 2



878270142839. 3
878270142840. 4

Performing Art (Dance)

Section Id : 878270880
Section Number : 3

Section type : Online
Mandatory or Optional : Optional
Number of Questions : 46
Number of Questions to be attempted : 46

Section Marks : 100
Enable Mark as Answered Mark for Review and

Clear Response: ves
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 8782701535
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 101 Question Id : 87827036333 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Who performs the ‘Bandha Nritya' ?
(1) Mahari

(2) Gotipua

(3) Dasi

(4) Kolavati
Options :

878270142841. 1



878270142842. 2
878270142843. 3

878270142844. 4

Question Number : 101 Question Id : 87827036333 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

M S o YT FA1 © 7

(1) Wer
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Options :

878270142841. 1
878270142842. 2
878270142843. 3

878270142844. 4

Question Number : 102 Question Id : 87827036334 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Who said “"See the music, hear the dance” ?
(1) Tchaikovsky

(2) Petipa

(3) Fokine

(4) Balanchine

Options:

878270142845. 1

878270142846. 2



878270142847. 3
878270142848. 4

Question Number : 102 Question Id : 87827036334 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T 1 on- ‘' i 1 STaEieRA Shiferg 3R Jo S vt hiferg ' ?

(1) SRR

(2) few

(3) RIfRA

(4) SATRA
Options :

878270142845. 1
878270142846. 2
878270142847. 3

878270142848. 4

Question Number : 103 Question Id : 87827036335 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Who founded the Academie Royal de Danse ?
(1) King Charles I
(2) Louis XIV
(3)
)

(4

John Weaver
Peter the Great
Options :

878270142849. 1
878270142850. 2
878270142851. 3



878270142852. 4

Question Number : 103 Question Id : 87827036335 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(3) S faer

(4) W g Ue
Options :

878270142849. 1
878270142850. 2
878270142851. 3

878270142852. 4

Question Number : 104 Question Id : 87827036336 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Who was called "the barefoot dancer” ?

(1) Isadora Duncan
(2) Loie Fuller

(3) Anna Pavlova
(4) Mary Taglioni

Options :

878270142853. 1
878270142854. 2
878270142855. 3

878270142856. 4



Question Number : 104 Question Id : 87827036336 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270142853. 1
878270142854. 2
878270142855. 3

878270142856. 4

Question Number : 105 Question Id : 87827036337 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Who is the author of ‘Speaking of Dance : The Indian Critique’ ?
(1) Urmimala Sarkar Munshi

(2) Tapati Chowdhurie

(3) Mandakranta Bose

(4) Aishika Chakraborty

iy

Options:

878270142857. 1
878270142858. 2
878270142859. 3

878270142860. 4



Question Number : 105 Question Id : 87827036337 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270142857. 1
878270142858. 2
878270142859. 3

878270142860. 4

Question Number : 106 Question Id : 87827036338 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Who introduced the concept of four elements - Space, Time, Weight and Flow - for movement
analysis ?

(1)  Kurt Jooss

(2)  Eric Hawkins
(3) Rudolf Laban
(4)

Charles Widman

s |

1
Options :

878270142861. 1
878270142862. 2

878270142863. 3

878270142864. 4



Question Number : 106 Question Id : 87827036338 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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Options :

878270142861. 1
878270142862. 2
878270142863. 3

878270142864. 4

Question Number : 107 Question Id : 87827036339 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which Indian dancer, among these, is a specialist in Dance therapy” ?
Uma Dogra

)
2)  Tripura Kashyap

) Parvati Dutta

) Jhelum Paranjpe
Options :
878270142865. 1
878270142866. 2
878270142867. 3

878270142868. 4

Question Number : 107 Question Id : 87827036339 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270142865. 1
878270142866. 2
878270142867. 3

878270142868. 4

Question Number : 108 Question Id : 87827036340 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of these statements is true ?
(1) Udayshankar received dance training from an early age
(2) Udayshankar used shadow play in his productions

3) Udayshankar joined the Indian People’s Theatre Association

{4; Panchatantra is a famous production of Udayshankar
Options:

878270142869. 1

878270142870. 2

878270142871. 3

878270142872. 4

Question Number : 108 Question Id : 87827036340 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270142869. 1
878270142870. 2
878270142871.3

878270142872. 4

Question Number : 109 Question Id : 87827036341 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of these performing space is not in New Delhi ?
(1) Jamshed Bhabha Theatre

(2) Kamani Auditorium

3)  Siri Fort Auditorium
(4) The Stein Auditorium
Options :

878270142873. 1
878270142874. 2
878270142875. 3

878270142876. 4

Question Number : 109 Question Id : 87827036341 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
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Options :

878270142873. 1
878270142874. 2
878270142875. 3

878270142876. 4

Question Number : 110 Question Id : 87827036342 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Which guru shishya pair is wrongly matched ?

(1) Kumudini Lakhia - Daksha Seth

(2) Bipin Singh - Darshana Jhaveri
(3) Jatin Goswami - Priti Patel

1)

(4) Saroja Vaidyanathan - Rama Vaidyanathan

Options :

878270142877. 1
878270142878. 2
878270142879. 3

878270142880. 4

Question Number : 110 Question Id : 87827036342 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270142877. 1
878270142878. 2
878270142879. 3

878270142880. 4

Question Number : 111 Question Id : 87827036343 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

In which classical dance are the terms ‘Kasak Masak and Galapalta’, used ?

(1) Sattriva

(2) Mohiniattam
(3) Kathak

(4) Odissi
Options :

878270142881. 1
878270142882. 2
878270142883. 3

878270142884. 4

Question Number : 111 Question Id : 87827036343 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) =@
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Options:

878270142881. 1
878270142882. 2
878270142883. 3

878270142884. 4

Question Number : 112 Question Id : 87827036344 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

In which dance are ‘Dasavatara Sabdam & Manduka Sabdam’ performed ?

(1) Koodiyattam
(2) Kuchipudi
(3) Koothu

(4) Kollattam

Options :

878270142885. 1
878270142886. 2
878270142887. 3
878270142888. 4

Question Number : 112 Question Id : 87827036344 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270142885. 1
878270142886. 2
878270142887. 3

878270142888. 4

Question Number : 113 Question Id : 87827036345 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Who among the following wrote a manual on dance called the ‘Govinda Sangita Lila Vilas' ?
(1) Bhagyachandra Maharaja

2) Chandrakirti Maharaja

3)  Churachand Maharaja

)

(
(3
(4) Bhakti Siddhanta

1
Options :

878270142889. 1
878270142890. 2
878270142891. 3
878270142892. 4

Question Number : 113 Question Id : 87827036345 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frefferfa o § forg Je saiel ‘e S eiven o’ A el g el T &1 o

Options:

878270142889. 1
878270142890. 2
878270142891. 3

878270142892. 4

Question Number : 114 Question Id : 87827036346 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Who was a friend of Shakuntala in Kalidas’s Nitya Abhijyanashakuntalam’ ?

(1) Yashomati
lj

2
(3
(4

) Vasantasena
) Vasavadatta
) Priyamvada
Options :
878270142893. 1
878270142894. 2
878270142895. 3

878270142896. 4

Question Number : 114 Question Id : 87827036346 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Frfcrard & A2 ' AT Wehdern’ ®1 & HiA off ?

(1) FoHfd
(2) TEHAE
(3) SEEE
(4) Toz==n
Options:

878270142893. 1
878270142894. 2
878270142895. 3
878270142896. 4

Question Number : 115 Question Id : 87827036347 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What is meant by ‘Suddha nrtta” as described by Abhinavagupta ?

(I) Dance on songs

(2) Abstract Dance

(3) Dancing on stories
(4) Expressive Dance
Options:
878270142897. 1
878270142898. 2
878270142899. 3

878270142900. 4

Question Number : 115 Question Id : 87827036347 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



SAfveTa 3R Al ‘rE-Tw o 1 Fa B2

(1) d | I
(2) o T

(3) AT WA
(4) EITE T
Options:

878270142897. 1
878270142898. 2
878270142899. 3

878270142900. 4

Question Number : 116 Question Id : 87827036348 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

What is the Devata Hasta, when ‘Shikhara’ is held in the left hand and the ‘Kapittha' is held in the
right and placed on thigh, called ?

(1) Parashurama

2)

(3) Rama
(4)

Vamana

Balarama

Options :

878270142901. 1
878270142902. 2
878270142903. 3
878270142904. 4

Question Number : 116 Question Id : 87827036348 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270142901. 1
878270142902. 2
878270142903. 3

878270142904. 4

Question Number : 117 Question Id : 87827036349 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Who among the following is the recipient of "Amrit Awards’ 2023 in the realm of Kuchipudi ?
) Lalita Srinivasan

) Vilasini Devi

j) Mahankali Srimannarayana Murthy

) Purnima Pande

Options :

878270142905. 1

878270142906. 2

878270142907. 3

878270142908. 4

Question Number : 117 Question Id : 87827036349 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



FraTel % &7 F oy R’ 2023 ¥ gt e fefates § § w5 §2
(1) @ e

Options:

878270142905. 1
878270142906. 2
878270142907. 3

878270142908. 4

Question Number : 118 Question Id : 87827036350 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which two among these are choreographed by Martha Graham ?
(A) Incense

(B) Fronter

(C) Serpentine Dance

(D) Lamentation

(E) Revelation

Choose the correct answer from the options given below :
(1) (A) & (C) Only

(2) (A)& (D) Only

(3) (B) & (D) Only

(4) (C) & (E) Only

Options :
878270142909. 1
878270142910. 2

878270142911. 3
878270142912. 4



Question Number : 118 Question Id : 87827036350 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
went aren A Freferfed § | foent 308 Tom R i ?
(A) TAES
(B) WifTm
(C) wHerzA =Y
(D) wHeIA
(E) Tfactm
A= feu 7 faereai o | @& ST = =9 Hif
(1) = (A) 3R (C)

(2) 9 (A) 3R (D)
(3) A (B) IR (D)
(4) 9 (C) SR (E)
Options :

8782701429009. 1
878270142910. 2
878270142911. 3

878270142912. 4

Question Number : 119 Question Id : 87827036351 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which among these is a character of Romantic ballet ?

(1) Sylph

(2) Birthe
(3) Hilda
(4) Diderik

Options :



878270142913. 1
878270142914. 2
878270142915. 3

878270142916. 4

Question Number : 119 Question Id : 87827036351 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frefafes § 9 $H wegeaar dd (IWifes o) o T TR/ I €7

(1) Toew

(2) @9

(3) feee

(4) feef=
Options :

878270142913. 1
878270142914. 2
878270142915. 3

878270142916. 4

Question Number : 120 Question Id : 87827036352 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

What s the name of the recent producﬁon of Nril}fagram in collaboration with Chitrasena Dance
Company ?

(1) Amrit
(2)  Walking Naked
(3) Ahuti
(4)  Passage of Life

Options :



878270142917. 1
878270142918. 2
878270142919. 3

878270142920. 4

Question Number : 120 Question Id : 87827036352 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
e 29 FO % Hedm | JIUTH i el i o AW #41 © 7
(1) =4

Options :

878270142917. 1
878270142918. 2
878270142919. 3

878270142920. 4

Question Number : 121 Question Id : 87827036353 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which two statements describe ‘Varnam’ of Bharatanatyam ?

(A) An invocatory dance

(B) Alternate sequences of nritta & nritya

(C) Abhinaya is rendered on a song, sung in couplets or verses
(D) The shortest dance of the repertoire

Choose the correct answer from the options given below :
(1) (A)& (B) Only

(2)  (A) & (C) Only

(3)  (B) & (C) Only

(4) (B) & (D) Only

Options:

878270142921. 1

878270142922. 2

878270142923. 3

878270142924. 4

Question Number : 121 Question Id : 87827036353 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frefefiaa § @ $M-9 < FuF WRaeay F ‘guin’ i goifd w2
(A) @RI

(B) T ST T I THR FH

(C) T iR vga F M W AT o s €

(D) VTS FH AT TA

T fou U fasedi § 9 Q& SO &1 999 FIfAU

(1) 9 (A) 3R (B)

2)  Had (A) FR(C)

3) e (B) 3R (O)

(4) 94 (B) SR (D)

)
)

.

Options :



878270142921. 1
878270142922. 2
878270142923. 3

878270142924. 4

Question Number : 122 Question Id : 87827036354 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which two statements on ‘Thumri’ are correct ?

(A) Thumriis derived from ‘thumka’, stamping of foot

(B) Thumri has only words like "tum’, “tam’ "dere’, “dani’

(C) Thumri, singing and dancing are traced to the courts of Wajid Ali Shah
(D) The hastas used in Thumri are the primary expression

Choose the correct answer from the options given below :

(1) (A)& (B)Only

() (A) & (C) Only
(3) (B) & (C) Only
@) (O & (D) Only

Options :

878270142925. 1
878270142926. 2
878270142927.3

878270142928. 4

Question Number : 122 Question Id : 87827036354 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



94 & AN frefafes § 9 209 9 Fun 9d €7

(A) A, IHI, G-l | eI |
gl & fFew ', ), R I o v R
I, TR 3R 96 1 /R A 376t 9 & Toieerd # et €
I e T HETd B IR qe stfiyeafad Wt S € |

= fou U fomedi § © W IO I Hifo
(1) had (A) TR (B)

(2) 9d (A) ¥R (C)

(3) 9 (B) 3R (C)

(4) 9d@ (C) ¥R (D)

Options:

878270142925. 1
878270142926. 2
878270142927. 3

878270142928. 4

Question Number : 123 Question Id : 87827036355 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which among the following are correctly described attributes of ‘nayika’-s according to
Sangitratnakara ?

(A) Mugdha - very young and shy

() Madhya - over mature

(C) Pragalbha - confident

(D) Atipragalbha - youthful

Choose the correct answer from the options given below :

(1) (A)& (B) Only

() (A)&(C) Only
() (B) & (C) Only
(4) ()& (D) Only

Options :



878270142929. 1
878270142930. 2
878270142931. 3
878270142932. 4

Question Number : 123 Question Id : 87827036355 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

it TR 3 SR Frefeian B 4 A e 3 e 9 w8 dft B &7
A) T - ST ga1 Te HHie

B) WAl - e T

C) WTeHl - SAHIvaE!

D) fayedr - T& 0

=l feu o fasredi H 9 W& IR T I

) A (A) 3R (B)
) A (A) 3 (Q)
) (
) (B)

— —— e j—

G0
e (B) 3R (C)
ael (B) AT (D)

Options :

878270142929. 1
878270142930. 2
878270142931.3

878270142932. 4

Question Number : 124 Question Id : 87827036356 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which among these are jati-s with 05 & 07 matras ?
(A) Tishram

(B) Khandam

(C) Sankirnam

(D) Mishram

(E) Chaturasram

Choose the correct answer from the options given below :
(1) (A) & (B) Only

(2) (B) & (C) Only

(3) (B) & (D) Only

4) (C) & (E) Only

Options:

878270142933. 1

878270142934. 2

878270142935, 3

878270142936. 4

Question Number : 124 Question Id : 87827036356 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frafafaa 8§ | 05 3 07 wEnel arel snfaar m o €2
(A) fagmg

(B) Weq

(C) iy

(D) TaHq

(E) IgLem

H3 few U foreredl © § WE SR 1 =9 FIC -

(1) ae (A) 3R (B)

(2) %9 (B) IR (Q)

(3) Fad (B) 3R (D)
(4) A (C) 3R (B)
Options :

878270142933. 1
878270142934. 2
878270142935. 3

878270142936. 4

Question Number : 125 Question Id : 87827036357 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which among these belong to the Sapta Tala system of Carnatic Music ?

(A) Guru
(B) Eka

(C) Laghu
(D) Rupaka

(E) Jhampa

Choose the correct answer from the options E:W en below :

(1) (A), (B) & (C) Only
() (O, (D) & (E) Only
(3) (B), (©) & (D) Only
(4) (B), (D) & (E) Only
Options:

878270142937. 1
878270142938. 2
878270142939. 3

878270142940. 4

Question Number : 125 Question Id : 87827036357 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frfafaa & 9 w9 ¥ FAfes dia & 9« 9 dsfa 9 Gefed g2
(A) T

(B)

(C) «H

(D) &9

(E) =W

< feu 7o foeredi ¥ 9 Wer S¥Y 1 =9 Fif

(1) 9 (A), (B) 9T (C)
(2) =wad (C), (D) 3R (E)

——

)
)
3) %dd (B), (C) 3R (D)
(4) = (B), (D) 3 (E)
Options :

878270142937. 1

878270142938. 2

878270142939. 3

878270142940. 4

Question Number : 126 Question Id : 87827036358 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which among, these are associated with Kathakali ?

(A) Bindi

(B) Thadi

(C) Laichandan
(D) Pacha

(E) Minukku

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only

(2) (B), (C) and (D) Only

(3) (B), (D) and (E) Only

(4) (C), (D) and (E) Only

Options:

878270142941. 1

878270142942. 2

878270142943, 3

878270142944. 4

Question Number : 126 Question Id : 87827036358 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ol I @ Frefafaa 8 € 3 @ g €2
(A) Tee

B) oIS

(C) wEded

(D) U=

(E) TIFR

A= feu 7o fasredi § € 9 39 &1 994 S
(1) = (A), (B) 3R (Q)

(2) e (B), (C) 3R (D)
(3) =de (B), (D) ¥R (E)
(4) Faa (C), (D) ¥R (E)

Options :

878270142941. 1
878270142942. 2
878270142943. 3

878270142944. 4

Question Number : 127 Question Id : 87827036359 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of these kings of Odisha patronised dance ?

(A) Mukundadev Deva

(B) Bhanu Deva

(C) Chodaganga Deva

(D) Kapilendra Deva

Choose the correct answer from the options given below :

(1)  (A) and (B) Only

(2) (A) and (C) Only
(3) (C) and (D) Only
(4) (B) and (D) Only



Options :

878270142945. 1
878270142946. 2
878270142947. 3

878270142948. 4

Question Number : 127 Question Id : 87827036359 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
FAfeen o 29 TSl H 9 forgd I3 b1 a1 e foram o ?
(A) HFeed <o

(B) g e
(C) =reTm ga
(D) wHfFers <o

=1 fou 7o fawedi § 9 W& SO 1 F94 FHife
(1) Faa (A) 3R (B)

(2) %9 (A) 3R (C)
(3) W (C) X (D)
(4) %9 (B) ¥R (D)
Options:

878270142945. 1
878270142946. 2
878270142947. 3

878270142948. 4

Question Number : 128 Question Id : 87827036360 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which two productions, among these, are choreographed by Kumudini Lakhia ?
(A) Unchartered Sea
(B) Dhabkar
(C) The Coat
(D) Sarpagati

(E) Train

Choose the correct answer from the options given below :

(1) (A)and (B) Only

(2) (B) and (C) Only
(3) (C) and (D) Only
(4) (D) and (E) Only
Options:

878270142949. 1
878270142950. 2
878270142951. 3
878270142952. 4

Question Number : 128 Question Id : 87827036360 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



fretfafas & 9§ w9 I <1 weafaal Fafet afaan g7 Tesmerd # w § 2

= fou o fomedi § ® 9@ I H =99 Hifo
(1) e (A) 3R (B)
(2) e (B) 1R (C
(3) I (C) ¥R (D)
(4) ¥ (D) 3R (E)

Options :

878270142949. 1
878270142950. 2
878270142951. 3

878270142952. 4

Question Number : 129 Question Id : 87827036361 Question Type : MCQ Option Shuffling :

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following statements are true ?

(A) There are five divisions of Shringara Rasa in Vaishnava Shastras.
(B) Gopi Chandraboli is the primary sakhi in Maharas of Manipuri.
(C) Sutradhari Nach is found in Assam.

(D) The Nabagraha Hastas are described in Sangit Ratnakara.
Choose the correct answer from the options given below :

(1) (A) and (B) Only

() (A)and (C) Only

(3) (B) and (D) Only

(4) (C) and (E) Only

No



Options :

878270142953. 1
878270142954. 2
878270142955, 3
878270142956. 4

Question Number : 129 Question Id : 87827036361 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frfafes § 4 &9 9 F 9 €2

(A) g oI B TR T F e 95 T

(B) i =ganfer Aforgd % Wermw H yEg uwEl
(C) U = 319 | Tl St € |

(D) IUE el o FUH T T H T

= fou U fomedi § € W@ 30T F =999 HifT
(1) <RI (A) 3R (B)

(2) %9 (A) 3R (C)
(3) e (B) R (D)
(4) FaA (C) #R (E)
Options:

878270142953. 1
878270142954. 2
878270142955. 3

878270142956. 4

Question Number : 130 Question Id : 87827036362 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which statements on modern dance are correct ?

(A) Modern Dance, born in the courts of Europe was seen asa diversion of the aristocracy, those
oppressors of common man,

(B) Modern Dance is a form of western theatrical dancing that has developed almost entirely
outside the ballet tradition.

(C) Modern Dance is simply a matter of chronology with a rigid technical system.
(D) Modern Dance is a point of view that stresses artistic individualism and encourages dancers
to develop personal choreographic style.

Choose the correct answer from the options given below :

(1) (A)and (B) Only

(2) (B) and (C) Only
(3) (B) and (D) Only
4) (C) and (D) Only
Options:

878270142957. 1
878270142958. 2
878270142959. 3
878270142960. 4

Question Number : 130 Question Id : 87827036362 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Y T & a1 ¥ Fretfeifid % § 399 SR R €

(A) T % TRTR H 39 S T 1 TSI & o WA & §9 W W T o S W
% e 4

(B) {7 ol i Jedchen] o Uk ¥ & S ofet/ed Fied W § T Qo e fo e
Tz

(C) eMfTeE o T O G TR oIl Wfed e o v €

(D) Y T 3feeh 1 fosfid ¢ S Tl Al W ae ol @ AR T H A
T Sl ferefi T o for ieenfed & €

el T T foekedl ® ¥ W S T FIC

(1) o (A) 4 (B

Options :

878270142957. 1
878270142958. 2
878270142959. 3

878270142960. 4

Question Number : 131 Question Id : 87827036363 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which among these are Romantic Ballets ?
(A) Clytemnestra

(B) Gisselle

(C) La Sylphide

(D) A Folk Tale

(E) The Green Table

Choose the correct answer from the options given below :
(1) (A)and (E) Only

(2) (B) and (C) Only

(3) (D) and (E) Only

(4) (B) and (D) Only

Options:
878270142961. 1
878270142962. 2

878270142963. 3

878270142964. 4

Question Number : 131 Question Id : 87827036363 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frefafes § 9 FH-%1 Tsseaar! (Tdifes) J €
(A)  FASTE

(B) Tirsiel

(C) o facwrEs

(D) T A

(E) fg UM 2ad

A= feu 7o fasredi § € 9 39 &1 994 S

(1) 9 (A) 3R (E)

(2) A (B) 8K (C)
(3) A (D) 3R (E)
(4) 9 (B) 3R (D)
Options :

878270142961. 1
878270142962. 2
878270142963. 3

878270142964. 4

Question Number : 132 Question Id : 87827036364 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In which of these plays by Bhasa, do we find the description of Hallisaka Dance ?
(A) Urubhangam

(B) Dutaghatotkach

(C) Balacharita

(D) Pancharatra

Choose the correct answer from the options given below :

(1) (A) and (B) Only

2)  (B) and (C) Only

3) (C) and (D) Only

)
) (A) and (D) Only

{
(
(4



Options :

878270142965. 1
878270142966. 2
878270142967. 3

878270142968. 4

Question Number : 132 Question Id : 87827036364 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
qE & 39 A2kl § § T8 goeirees! Jcd 1 foeor qran S @ ?
(A) TEIT™

=

(B) T=EIdR

(C) <ITeT=Rd

(D) W

=1 fou 7o fawedi § 9 W& SO 1 F94 FHife
(1) Faa (A) 3R (B)

(2) e (B) 3R (C)
(3) ha (C) 3R (D)
(4) FFA (A) 3R (D)

Options:

878270142965. 1
878270142966. 2
878270142967. 3

878270142968. 4

Question Number : 133 Question Id : 87827036365 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which two instruments are used in Kathakali ?
(A) Elatalam

(B) Ghatam

(C) Maddalam

(D) Talam

Choose the correct answer from the options given below :
(I) (A) and (B) Only

(2) (A) and (C) Only

(3) (B) and (C) Only

(4) (B) and (D) Only

Options :

878270142969. 1

878270142970. 2

878270142971. 3

878270142972. 4

Question Number : 133 Question Id : 87827036365 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
Fushel H Frefafed § | #9-8 1 a9 93 g9 e 9 €2
(A) T
(B) #H<H
(C) g
(D) drH
A= fou U ferpedi W € T& IO H FIH I :
(1) = (A) 3R (B)

(2) e (A) 3R (C)
(3) F9A (B) 3R (C)
(4) <9 (B) &I (D)

Options :



8782701429609. 1
878270142970. 2
878270142971. 3

878270142972. 4

Question Number : 134 Question Id : 87827036366 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - 1 List - 1T
Dances of Shiva Description of the Dances
(A) Anand Tandava ()  Performed after the burning of Tripura
(B) Kodukotti (I) Danced with a skull in his hand.
(C) Pandarangam (II) Portrays all manifold responsibilities of the Lord
(D) Kapali (IV) Petformed on the battle field

Choose the correct answer from the options given below :
(1) (A1), (B)-(), (), (D)-IV)

(2)  (AHI, B)-(IV), (C)-(1), (D)-(IL)

(8)  (A)MI), (BHI), (C-(IV), (D))

(4)  (AHIV), (B, (D), (D)-(0)

Options :

878270142973. 1

878270142974. 2

878270142975. 3

878270142976. 4

Question Number : 134 Question Id : 87827036366 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



eit-1 9 Gt-11 1 foe I

Tefl-1 TT-11

forar =1 791 T fearzor
(A) @R died 0 B & sffer % 9% yefid
(B) eIgHIE! () 319 o5 H FUTe o 9 Tey
(C) detm (IlI) sam & 9 fafay Sfaer 1 feem
(D) At (IV) T &3 ¥ yeivid
A feu U foredl ® € W& IO H T4 FHIoC ;
(1) (AR, (B)-(I), (C)-(II), (D)-(IV)
(2) (A, (B)-(IV), (C)-(I), (D))
(3)  (A)-(m), (B)-(I), (C(IV), (D)-(II)
4)  (AKIV), (B){(I), (C)-(11), (D)-(I)

Options :

878270142973. 1
878270142974. 2
878270142975. 3

878270142976. 4

Question Number : 135 Question Id : 87827036367 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - 11.

List - 1 List - II
Dances Performed for Deities
(A) Batu Nritya (I) Manasa
(B) Suknanni Ojapali (II) Umang Lai
(C) Laiching Jagoi (IlT) Batuka Bhairava
(D) Seraikella Chhau (IV) Shiva-Kali

Choose the correct answer from the options given below :

(1) (A-D, (BN, (O~I), (D)-(IV)

(2) (A1), (B)-(IV), (O)-(1), (D)-(IL)
(3)  (A)-(IV), (B)-(IIL), (C)(LD), (D)-(I)
4) (A, (B)-(I), (C)-(I), (D)-(IV)

Options :

878270142977. 1
878270142978. 2
878270142979. 3

878270142980. 4

Question Number : 135 Question Id : 87827036367 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 9 gEit-11 =1 e s .
-1 Eit-11

T SerTat g wafdia
(A) g T ()  HTHVHE
(B) gFA~ St () 3HT %
(C) if=m e (IIl) o2& W
(D) Eehe BF (1V) Tera-ahredt

= feu 7o foredi § | W& I 1 = ST
(1) (A, (B)-(L), (C)(I), (D)-(IV)

(2)  (A)-(ID), (B)-(IV), (CO)-(L), (D)~(IIT)

(3)  (A)-(IV), (B)-(IIL), (C)-(1I), (D)-(D)

(4)  (A)I), (B)~(1), (O)-(I), (D)-(IV)

Options :

878270142977. 1

878270142978. 2

878270142979. 3

878270142980. 4

Question Number : 136 Question Id : 87827036368 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - I1
Institutes Founder-Dancers
(A) Gandharva Mahavidyalaya (I)  Madhavi Mudgal
(B) Shankarananda Kalakshetra (II) Anand Shankar Jayant
(C) Bhoomika Creative Dance Centre (If) Bharat Sharma
(D) Drishtikone Dance Foundation (IV) Aditi Mangaldas

Choose the correct answer from the options given below :

(1) (AHD, (B, (CHI), (D)-(IV)

(2) (A, (B)-(I), (O)-(IV), (D))
(3)  (A)IL), (BIV), (OHI), (D)-(I)
(4)  (AHIV), (BHI), (OH1L), (D)-(1)

Options :

878270142981. 1
878270142982. 2
878270142983. 3

878270142984. 4

Question Number : 136 Question Id : 87827036368 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 9 gEit-11 =1 e s .

-1 GE-11

LEES IR HIATH -l eh
(A) TiYE AefeRme™ (I) el 7T
(B) WFHUAG HeNard (I)  THT IieRT ST4d
(C) yfHeht Frufea 2| HX (I) 9% 9™l
(D) gfteswv 9e7 gfaeH (1v) @fefa Aree™

(gfshio S HEeIF)

e fou o fomedi # 9 98 ST A 999 Fife
(1) (A)-D), (B)-(I), (O)-(I), (D)-(1V)
(2)  (A)-(10), (B)-(D), (C)-(1V), (D)~(11I)
(3)  (A)-(I), (B)-(IV), (C)=(1), (D)-(IT)
(4)  (A)-IV), (B)-(II), (O)-(10), (D)-(L)
Options :
878270142981. 1
878270142982. 2
878270142983. 3

878270142984. 4

Question Number : 137 Question Id : 87827036369 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - 11.

List - I List - II
Odissi Dancers Their Countries of Birth
(A) Ileana Citarist () Malaysia
(B) Ramli Ibrahim ) US.A,
(C) Sharon Lowen (II) Italy
(D) Kimiko Yanagida (IV) Japan

Choose the correct answer from the options given below :

(1) (A0, (B)-(I), (O)-(II), (D)-(1V)

(2)  (AHIV), (B)IL), (OA1D), (D)-[0)
(3) (A)-(II), (B)(I), (C}-(IT), (D)-(IV)
4) (A, (B)-(1), (O)-(L), (D)-(IV)

Options :

878270142985. 1
878270142986. 2
878270142987. 3

878270142988. 4

Question Number : 137 Question Id : 87827036369 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 9 gEit-11 =1 e s .
-1 E(t-11

sfifedt wden Ik W T SO
(A) sferermn faaftel Iy  weIferE
(B) Tmelt gefen (I) FTHT,
(C) SH e (1) z=al
(D) TerfHeRt FmIfTS (IV) <

= feu 7o foredi § | W& I 1 = ST
(1) (A, (B)-(L), (C)-(I), (D)-(IV)

(2)  (A)-(IV), (B)-(IIT), (O)-(ID), (D)-()

(3)  (A)-(Im), (B)-(I), (CO)-(II), (D)-(IV)

(4) (A1, (B)-(I), (O)-(I), (D)-(IV)

Options :

878270142985. 1

878270142986. 2

878270142987. 3

878270142988. 4

Question Number : 138 Question Id : 87827036370 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - 1 List - II
(A) Vidyapati (I)  Bengali Vaishnava Poet
(B) Govindadas (I)  Borgeet Poet
(C€) Kshetraya (1) The poet cuckoo of Maithili
(D) Srimanta Sankara Deva (IV) Telugu Poet
Choose the correct answer from the options given below :
1) AL, B)-1), (O-L), (D)-1V)
(2)  (A)-(I), (BI(D), (CHIV), (DHI)
(3) (A, B)-1V), (©-(), (D)
@) (AHIV), (B, (O, (D)-()
Options :

878270142989. 1
878270142990. 2
878270142991. 3

878270142992. 4

Question Number : 138 Question Id : 87827036370 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

-1 9 geit-11 =1 e sifs .

-1 GE-11
(A) Toremafa () el 9w Hid
(B) Tifer<erd (II) = ohfe
(C) &3 (II1) Hfered iferat i
(D) 4iHa vy (IV) o *a

"= feu 7o fowedi § 9 9& SO & 999 Hife
(1) (A, (B)-(I), (O)~(I), (D)-(IV)
(2) (A, (B)~(I), (C-(1V), (D)-(II)
(3) (A1), (B)-(IV), (O)-(I), (D)~(L)
(4)  (A)-(IV), (B)~(IID), (C)~(1D), (D)-(I)



Options :

878270142989. 1
878270142990. 2
878270142991. 3

878270142992. 4

Question Number : 139 Question Id : 87827036371 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Which is the correct sequence of the traditional dance artists from North to South of [ndia ?

(A) Maibi
(B) Bai

(C) Mahari
(D) Svadasi

Choose the correct answer from the options given below :

) ()()()(D)

Options:

878270142993. 1
878270142994. 2
878270142995. 3

878270142996. 4

Question Number : 139 Question Id : 87827036371 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



A o I H <fE0 & o GRUE ToA FERN F1 Fel FH/SATRA § oA HC

(A) et

(B) WM

(C) wrer

(D) e

A feu Tu foredi § 9 T S T i
(1) (A), B), (C) (D)

(2) B, (©) (D), (A)

3 (© (D). (A), B)

(4) (D), (C), (B) (A)

Options:

878270142993. 1
878270142994. 2
878270142995. 3

878270142996. 4

Question Number : 140 Question Id : 87827036372 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which is the correct sequence of the ‘Drishtibheda’- s (types of Glances) according to Abhinaya
Darpana ?

(A) Sachi
(B) Pralokita
(C) Alokita
(D) Nimilita
(E) Sama

Choose the correct answer from the optlnns gwen below :

(1) (A) () €, ©) E
@ © (0
(3 E),(D),C,B
@ 6

) |
4) () () (C) (4),



Options :

878270142997. 1
878270142998. 2
878270142999. 3
878270143000. 4

Question Number : 140 Question Id : 87827036372 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
T g0 % SFTER gfeys’ 1 Hel 379%H A 91 ¢ ?
(A) =
(B) WreIfRd
(C) eAreirferd
(D) TAfAfer
(E) &H
<3 fiew T, Forpei G W SO 1 = I
(1) (A), (B), (C), (D), (E)

(2 (E), ©), (A), B), (D)

(3)  (E), (D), (Q), (B), (A)

(4) (B), (E), (O), (A), (D)
Options:

878270142997. 1
878270142998. 2
878270142999. 3
878270143000. 4

Question Number : 141 Question Id : 87827036373 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Which is the correct sequence of the ‘Anga’-s according to the Shloka of the Natyashastra ?

D)] Hasta
E) Shira

Choose the correct answer from the options given below :
(1) (A)®) © ) E

@ (), (C) (A) D) £
@) (B), (4) ©), ®) D)
(4) () (D) (©),(B), (A)
Options :
878270143001. 1
878270143002. 2
878270143003. 3

878270143004. 4

Question Number : 141 Question Id : 87827036373 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



YT o Yok o STER 17’ 1 Hel 3ThH & 91§ 7
(A) Hfe

(B) g

(C) o=

(D) &=

(E) ™

= feu U fasredi § 9 W SO 1 999 FIf9

(1) (A), (B), (©), (D), (E)

(2 (B), (©), (A), (D), (E)

3 (E), A), (©Q), (B), (D)

(4) (B), (D) (O, (B), (A)
Options:

878270143001. 1
878270143002. 2
878270143003. 3

878270143004. 4

Question Number : 142 Question Id : 87827036374 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which is the correct chronological sequence of the maiden performance years of the Tagore's
dance dramas ?

(A) Shyama
(B) Tasher Desh

(C) Chandalika

(D) Shapmochan

(E) Chitrangada

Choose the correct answer from the options given below :

() ©) () () (©) &)

@A) ®) €, O) E)
(3) ) (C) (A) €) O)
@ (© (D) () (A) ()

Options:

878270143005. 1
878270143006. 2
878270143007. 3
878270143008. 4

Question Number : 142 Question Id : 87827036374 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



SR & o4 A12oh1 % YW WE(d o sh1 HeEl FIeAThT ohid 91 8 ?
(A) HH

(B) TR T

(C) =i

(D) WT9HEA

(E) e

A= feu 7o fasredi § € 9 39 &1 994 S

(1) (D), (B), (E), (O), (A)

(2)  (A), (B), (©), (D), (E)
(3)  (B), (O, (A), (B), (D)
4) (©), (D), (E), (A), (B)
Options:

878270143005. 1

878270143006. 2

878270143007. 3

878270143008. 4

Question Number : 143 Question Id : 87827036375 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which is the correct sequence of the dance festivals from West to East of India ?
(A) Rajgir Mahotsava

(B) Pragjyoti Dance Festival

(C) Kala Ghora Arts Festival

(D) Chakradhar Samaroh

Choose the correct answer from the options given below :

(1) (A) ®), (€ (D)

2)  (B), (A), (D), (©)



8782701430009. 1
878270143010. 2
878270143011. 3

878270143012. 4

Question Number : 143 Question Id : 87827036375 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

YRA % I Helcdal o1 UR=H & Y Hel 3ThRH HF q1 8 ?
(A) TEFIR Helead

(B) WA T4 Heledd

(C) T =TSl Fell Helcdd

(D) R THRE

= fou 7o fowedi § 9 W& SO 1 999 Hife

(1) (A) (B), (©), (D)

(2) (B), (A), (D), (©)

(3) (D), (Q), (B), (A)

(4) (O, (D), (A), (B)
Options :

8782701430009. 1
878270143010. 2
878270143011. 3

878270143012. 4

Question Number : 144 Question Id : 87827036376 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement (I) : The Vedic literature reveals much scanty knowledge of drama, dance, music and
musical instruments.

Statement (II) : Scholars opine that the art of dancing was present prior to the art of dramatics as
we have reference to the word ‘nrtt’ in the Vedas, but the word nata’ was first
located in Panini’s work.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4) Statement I is incorrect but Statement II is correct

(
(3) Statement I is correct but Statement Il is incorrect
(

Options:

878270143013. 1

878270143014. 2

878270143015. 3

878270143016. 4

Question Number : 144 Question Id : 87827036376 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A 3 FA UM E

FIRL:  olfceh Hifeed T2, oo, WA SR Hiia el o o e T Seeed H ¢ |

FU 11 : fogl 1 7 ¢ o o o, 128 el ® 0 Foreo o, o o ) W e 90 e o e
fierdl &, WY ' I o S Wl GoW WO o 99 H e 2

TR B o e §, T f50 T foered # 9 W S 9

(1) ISR BRI T

() 1SR HUA 11 T €

(3) R IT T o FIF T ¢

(4 R LTI &, Tl B 1R

Options :



878270143013. 1
878270143014. 2
878270143015. 3

878270143016. 4

Question Number : 145 Question Id : 87827036377 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements : one is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) : Sacred geomelry finds symbolic meanings within nature’s harmonic shapes; you
can also find those in examples from ballet.

Reason (R):  Movement speaks its own language through form and patter.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(I) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4)  (A) is not correct but (R) is correct

Options :

878270143017. 1

878270143018. 2

878270143019. 3

878270143020. 4

Question Number : 145 Question Id : 87827036377 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



1 2 o few 0 €. v e (A) % w9 ¥ forf € 9 S 30 WO (R) F E9 A

fvrmert (A) :  wfor wnfnf () o wpfe 1 T oM % Siet e o fifed & € om
% 0 1 e ¥ T T

TR (R): T/ T SR WY WA S T P e w7

ST H & e ¥, Al {0 70 foedi W 9 W@ S < o

(1) S (A) 3 (R) T&l & 3 (R), (A) 1 5 o7

() (A) 3 (R) T& & A (R), (A) B 58 e 7 &

(3) (A) T E o (R) T &

(&) (A)9E T & o (R) 96 &

Options :

878270143017. 1

878270143018. 2

878270143019. 3

878270143020. 4

Sub-Section Number : 2
Sub-Section Id : 8782701536
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827036378 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (146 to 150)

Question Label : Comprehension



Dance has occupied a central place in educational theory since the times of the ancient
philosophers Plato and Aristotle, who believed that dance contributes to aesthetic, moral, and
infellectual values as well as to enhancing physical adeptness and over-all well-being. Plato asserted,
for example, that dance trains the mind and soul to differentiate among those forms of actions,
feelings, and ideas capable of producing nobility of character and refinement of the mind. Aristotle
ranked dance among the educational activities qualifying as ends or things of value for themselves.
As such, these activities help cultivate the mind. Subsequent philosophers including Lucian
(100-200 A.D.), Castiglione (1478-1529), and John Locke (1632-1704), representing Hellenic,
Renaissance, and modern empiricist cultures, all affirmed the importance of dance as a primary
element in the development of an educated person.

[n America, dance has been a part of education since Colonial times when dance masters
provided the more prosperous families with training in graceful bodily movement and social skills.
The immediate precursors of our modern approaches to educational dance were those educators
who incorporated German theories of gymnastic dancing into programs for physical education.
The teaching of dance in the schools evolved as visionary educators like Dudley Sargent of Boston
and others introduced “aesthetic dancing” as a part of physical education. The main substance of
these programs consisted of gymnastic type movements, butsome also included ballet. The growing
importance of dance at the beginning of the present century was recognized significantly when, in
1905, the American Physical Education Association chose dance for the theme of its national
convention.

Sub questions

Question Number : 146 Question Id : 87827036379 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (I) : In America, modern approaches to dance education provided training in graceful
bodily movements.

Statement (II) : Since colonial times, German theories of Gymnastic dancing was integrated in
physical education.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement I is correct

Options :



878270143021. 1
878270143022. 2
878270143023. 3

878270143024. 4

Question Number : 147 Question Id : 87827036380 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List - I with List - II.

List - I List - II
(A) Lucien ()  Modern empiricist cultures
(B) Castiglione (II) Hellenic
(C) Locke (I1I) Poetics
(D) Aristotle (IV) Renaissance

Choose the correct answer from the options given below :
(1) (A)-(I), (B)-(I), (C)~(IV), (D)~(II)

(2)  (A)-(I), (B)-(IV), (C)-(II), (D)-(1I)

(3) (A1), (B)-(IV), (C)-(1), (D)~(1II)

(4)  (A)-(I0), (B)~(11), (C)-(IV), (D)-(I)

Options :

878270143025. 1

878270143026. 2

878270143027. 3

878270143028. 4

Question Number : 148 Question Id : 87827036381 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which is the correct chronological sequence of philosophers according to their age ?
(A) Castiglione
(B) Aristotle
(C) Lucien
(D) Plato
(E) John Locke

Choose the correct answer from the options given below :

() (A), (B), (C), D) (B

(2) () (A) D) (©) B
() (&), D) (©) (B) (A)
(4) (D) (B) (C), (A) (B
Options:

878270143029. 1
878270143030. 2
878270143031. 3
878270143032. 4

Question Number : 149 Question Id : 87827036382 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which is not a quality of dance ?
(1) Intellectual value

(2) Dispiritedness

(3) Physical well being

(4) Aesthetics

Options :

878270143033. 1

878270143034. 2

878270143035. 3

878270143036. 4

Question Number : 150 Question Id : 87827036383 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

According to the paragraph, which among these are primary substance of ‘aesthetic dancing’ as a
part of physical education ?

(A) Modern Dance

(B) Ballet

(C) Contemporary Dance

(D) Gymnastic Type Movements

Choose the correct answer from the options given below :

(1) (A)and (B) Only

(2) (B) and (C) Only
(3) (B) and (D) Only
4) (C) and (D) Only
Options :

878270143037. 1
878270143038. 2
878270143039. 3

878270143040. 4

Question Id : 87827036378 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (146 to 150)

Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 87827036379 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T 3§ FA UM E

FOL: ol W, T e o syl umm el wrifE =e W e won i 9
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(1) 1 3 et 11 3 74 ¢

(2) R 1 o et 11 SR e &

(3) SO ¢, Ol w1 e ¢

(4) IO 8, TR HOR T B

Options :



878270143021. 1
878270143022. 2
878270143023. 3

878270143024. 4

Question Number : 147 Question Id : 87827036380 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

-1 9 gEit-11 =1 e sifsg
Teil-1 Teit-11
(A) R (L) eNYFTER AFHfF HEH
(B) wffrasir (II) eeifer
(C) ek (III) HTAITEA
(D) 3RE (IV) gt

At feu e foeredi ® | W@ S 1 =59 Fifer
(1) (A)D), (B)-(11), (O)IV), (D)-(11])

(2) (AL, (B)R-(IV), (C)-(1I), (D)-(I1)

(3) (A, B)-AV), ©-(1), (D)-(I)

(4) (A1), (B){ID, (O-1V), (D)-(0)

Options :

878270143025. 1

878270143026. 2

878270143027. 3

878270143028. 4

Question Number : 148 Question Id : 87827036381 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(A) st
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(C) wrEamM

(D) @RI
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(1) (A), (B), (©), (D), (E)

2)  (B), (A), (D), (O (B)

(3) (E), (D), (O, (B), (A)

4) (D) (B), (O), (A), (B)
Options:

878270143029. 1
878270143030. 2
878270143031. 3

878270143032. 4

Question Number : 149 Question Id : 87827036382 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e & 9 = o7 o o e © 2
(1) fss g

(2) TSt

(3) W e

(4) IR

Options :

878270143033. 1
878270143034. 2

878270143035. 3



878270143036. 4

Question Number : 150 Question Id : 87827036383 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270143037. 1
878270143038. 2
878270143039. 3

878270143040. 4

Performing Art (Drama/Theatre)

Section Id : 878270881
Section Number : 4

Section type: Online
Mandatory or Optional : Optional
Number of Questions : 46

Number of Questions to be attempted : 46



Section Marks : 100

Enable Mark as Answered Mark for Review and

Yes
Clear Response:
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 8782701537
Question Shuffling Allowed : Yes
Is Section Default?: null

Question Number : 151 Question Id : 87827036384 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Whatis the term used in theatre which describes the separation of scenery and acting from coherence

of casualty and logic ?

(1) Academic theatre

(2) Actable

(3)  Abstract drama

(4) Affective memory

Options:

878270143041. 1

878270143042. 2

878270143043. 3

878270143044. 4

Question Number : 151 Question Id : 87827036384 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270143041. 1
878270143042. 2
878270143043. 3

878270143044. 4

Question Number : 152 Question Id : 87827036385 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What is the term used for crisis or height of the action in the play, in Greek Theatre ?
(1) Cathurnus

(2) Catastasis
(3) Caster

(4) Catalyst

[y

Options :

878270143045. 1
878270143046. 2
878270143047. 3
878270143048. 4

Question Number : 152 Question Id : 87827036385 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) TR ()
THfeg (herefEy)

Options:

878270143045. 1
878270143046. 2
878270143047. 3

878270143048. 4

Question Number : 153 Question Id : 87827036386 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

What is the term used for the agreement between the actor and spectator to use ar tificial means of
crealjng the actions ?

(1) Corner

(2) Convention

(3) Constructivism

(4) Console

Options :

878270143049. 1

878270143050. 2

878270143051. 3

878270143052. 4

Question Number : 153 Question Id : 87827036386 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270143049. 1
878270143050. 2
878270143051. 3
878270143052. 4

Question Number : 154 Question Id : 87827036387 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What is the term used for an actor in Kabuki plays of Japan ?

(1) Dame

(2) Daikon

(3) Debayasi

(4) Deuteragonist

Options :

878270143053. 1
878270143054. 2
878270143055. 3
878270143056. 4

Question Number : 154 Question Id : 87827036387 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) =¥

(2) A

(3) SIEH

(4) TLONTE (3TAHF)
Options:

878270143053. 1
878270143054. 2
878270143055. 3

878270143056. 4

Question Number : 155 Question Id : 87827036388 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Who said “the stage must not borrow so much from life as life borrows from stagw" ?
(I)  Friedrich Neitzsche

(2) Alexander Tairov

(3) Nikolai Evreinov

(4) Alexandre Dumas

Options :

878270143057. 1

878270143058. 2

878270143059. 3

878270143060. 4

Question Number : 155 Question Id : 87827036388 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270143057. 1
878270143058. 2
878270143059. 3

878270143060. 4

Question Number : 156 Question Id : 87827036389 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Who wrote the play ‘Vacuum Cleaner’ ?
(1) Chinmai Mehta

(2) D. Vijaya Bhasker

(3) Dr. Sanjeev Kumar

(4) Chinmai Mandalekar

Options :

878270143061. 1

878270143062. 2

878270143063. 3

878270143064. 4

Question Number : 156 Question Id : 87827036389 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(4) fa=mg Heoe
Options:

878270143061. 1
878270143062. 2
878270143063. 3

878270143064. 4

Question Number : 157 Question Id : 87827036390 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Who among the following is awarded Sangeet Natak Akademi ‘Amrit Award’ for Acting
recently ?

(1) Ramamurthy Sundaresan

(2) Hari Krishen Hangoo

(3) Pratap Sehgal

(4) CL. Jos

Options :

878270143065. 1

878270143066. 2

878270143067. 3

878270143068. 4

Question Number : 157 Question Id : 87827036390 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270143065. 1
878270143066. 2
878270143067. 3

878270143068. 4

Question Number : 158 Question Id : 87827036391 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Who among the following is awarded Sangeet Natak Akademi ‘Amrit Award’ for playwrighting

recently ?

(I)  Sushil Kumar Singh

(2) Suman Kumar

(3) DBasani Marreddy

(

4)  Janak Harilal Dave

Options :

878270143069. 1
878270143070. 2
878270143071. 3
878270143072. 4

Question Number : 158 Question Id : 87827036391 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270143069. 1
878270143070. 2
878270143071. 3

878270143072. 4

Question Number : 159 Question Id : 87827036392 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following duo have written and directed the play Kissa Maujpur Ka' for Bharangam

20237

(I) Daya Prakash Sinha and Rohit Tripathi

(2) Jiten Sen and Bhaskar Boruah

(3) Jayavardhan and Chitra Singh

(4) Rameshwar Singh Kashyap and Sanjay Upadhyay

Options:

878270143073. 1

878270143074. 2

878270143075. 3

878270143076. 4

Question Number : 159 Question Id : 87827036392 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270143073. 1
878270143074. 2
878270143075. 3
878270143076. 4

Question Number : 160 Question Id : 87827036393 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Who 1s the director of National School of Drama, Sikkim Centre ?
(1) Teekam Joshi

(2) Abhilash Pillai

(3) Dinesh Khanna

(4) Souti Chakraborty

Options:

878270143077. 1

878270143078. 2

878270143079. 3

878270143080. 4

Question Number : 160 Question Id : 87827036393 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T A fauers, fafssn &= & fReus FA g2
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(2) e foees
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Options :

878270143077. 1
878270143078. 2
878270143079. 3

878270143080. 4

Question Number : 161 Question Id : 87827036394 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Under which term Bharata SpEEll\'.S about five introductory or presentation devices such as,
Vishkambhaka, Praveshaka etc ?

(1) Sandhis

(2) Karyavasthas

(3) Arthaprakrtis

(4)  Arthopakshepaka
Options :
878270143081. 1
878270143082. 2
878270143083. 3

878270143084. 4

Question Number : 161 Question Id : 87827036394 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
878270143081. 1
878270143082. 2
878270143083. 3

878270143084. 4

Question Number : 162 Question Id : 87827036395 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In which Sanskrit Classical Drama, garbhank-the device of play within a play is employed by the
dramatist ?

(1) Pancharitra

(2) Mattavilasa

(3) Mahaveer charita

(4) Uttara Rama charita

Options :

878270143085. 1

878270143086. 2

878270143087. 3

878270143088. 4

Question Number : 162 Question Id : 87827036395 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
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Options :

878270143085. 1
878270143086. 2
878270143087. 3

878270143088. 4

Question Number : 163 Question Id : 87827036396 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

‘Theatre should not mirtor reality but should transcend the common place of every day life by
deliberately exaggerating and dlstorlmb reality through stylized theatrical lechmqueb - Who
advocated these thoughts ?

(1) Brecht

(2) Meyerhold

(3) Peter Brook

(4)  Augusto Boal
Options :
878270143089. 1
878270143090. 2
878270143091. 3

878270143092. 4

Question Number : 163 Question Id : 87827036396 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270143089. 1
878270143090. 2
878270143091. 3
878270143092. 4

Question Number : 164 Question Id : 87827036397 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A theory of acting in which it is argued that great actors do not experience the emotions they are
displaying, was advocated by :

(I) Jacques Copeau

(2) Konstantin Stanislavsky

(3) Elia Kazan

(4)  Denis Diderot

Options :

878270143093. 1

878270143094. 2

878270143095. 3

878270143096. 4

Question Number : 164 Question Id : 87827036397 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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Options :
878270143093. 1
878270143094. 2

878270143095. 3

878270143096. 4

Question Number : 165 Question Id : 87827036398 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which among the following stock characters is not a "Master” in ‘Commedia Dell’ arte ?

(1) Pantalone
(2) Dottore

(3) Columbine
(4) Capitano
Options:

878270143097. 1
878270143098. 2
878270143099. 3

878270143100. 4

Question Number : 165 Question Id : 87827036398 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270143097. 1
878270143098. 2
878270143099. 3

878270143100. 4

Question Number : 166 Question Id : 87827036399 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

What 1s the long garment reaching from neck to ankles, worn by Greek tragic actors called ?
(1)  Onkos

2)  Chiton

) Cothurnus
)

[@%)

(
(
(4

Soccus

Options:

878270143101. 1
878270143102. 2
878270143103. 3

878270143104. 4

Question Number : 166 Question Id : 87827036399 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) Ham
(2) feeml
(3) FE™
(4) HIHY
Options :

878270143101. 1
878270143102. 2
878270143103. 3
878270143104. 4

Question Number : 167 Question Id : 87827036400 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The Greek dramatist and actor Thespjs smeared his face with purslane or white lead and red
cinnabar, or wore a false face made of :

(1) Linen

(2) Painted Wood

(3) Terra Cotta

(4) Baked Clay

Options :

878270143105. 1

878270143106. 2

878270143107. 3

878270143108. 4

Question Number : 167 Question Id : 87827036400 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270143105. 1
878270143106. 2
878270143107. 3
878270143108. 4

Question Number : 168 Question Id : 87827036401 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A form of minimum scenery which is complete as to floor plan but not normal in height, is
called :

(I) Realistic setting

(2) Cut-Down scenery
(3) Cut drop scenery
(4)  Jackknife stage
Options :
878270143109. 1
878270143110. 2
878270143111. 3

878270143112. 4

Question Number : 168 Question Id : 87827036401 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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878270143109. 1
878270143110. 2
878270143111. 3

878270143112. 4

Question Number : 169 Question Id : 87827036402 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which one of the following is not a component of speech ?

(1) Pitch
(2) Words
(3) Action
(4) Voice
Options:

878270143113. 1
878270143114. 2
878270143115. 3

878270143116. 4

Question Number : 169 Question Id : 87827036402 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frefafaa § 9 SF-a1 96 1 e 72 &2

(1) T
(2) ¥R
(3) fwa

Options :

878270143113. 1
878270143114. 2
878270143115. 3
878270143116.4

Question Number : 170 Question Id : 87827036403 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

If we turn our hand, index finger extended, in a continuous series of loops, we are using which
type of a gesture to describe a spiral-shaped object ?

(1) Plastic

(2) Denotative

(3) Expressive

(4) Graphic

Options :

878270143117. 1

878270143118. 2

878270143119. 3

878270143120. 4

Question Number : 170 Question Id : 87827036403 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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878270143117. 1
878270143118. 2
878270143119. 3
878270143120. 4

Question Number : 171 Question Id : 87827036404 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following books were written by Peter Brook ?
(A) The Empty Space

(B) The Aesthetics of Oppressed

(C) The Rainbow of Desire

(D) The Shifting Point

(E) Legislative Theatre

Choose the correct answer from the options given below :
(I) (A)and (B) Only

(2) (B) and (C) Only

(3) (A) and (D) Only

(4) (D) and (E) Only

Options :
878270143121. 1

878270143122. 2



878270143123. 3
878270143124. 4

Question Number : 171 Question Id : 87827036404 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e 5 g fordt T8 e frafafea § § w5 o § 2
(A) T U TH

(B) T UEIfeay ATH ATUTE

(C) = el &A% fesrr

(D) = fuifern EE=

() wifsreeifed foaet

s e o foreredl § § WE IR 1 =T FC -
(1) < (A) TR (B)

(2) I (B) 3R (C)

(3) HEH (A) IR (D)

(4) 9 (D) 3R (E)

Options :

878270143121. 1
878270143122.2
878270143123.3

878270143124. 4

Question Number : 172 Question Id : 87827036405 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



What are the qualities of archetypal character ?

(A) One who represents a small group of people

(B) One who represents a large group of people

(C) Omne who grows and changes unlike a stock character
(D) One who doesnt grow and change like a stock character
(E) A single character who functions as chorus in a play
Choose the correct answer from the options given below :
(1) (A)and (B) Only

(2) (B) and (C) Only

(3) (C€) and (D) Only

(4) (O, (D) and (E) Only

Options:
878270143125. 1
878270143126. 2

878270143127.3
878270143128. 4

Question Number : 172 Question Id : 87827036405 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) 9 (A) 3R (B)

(2) E (B) 3R (C)
(3) e (C) 3R (D)
(4) a9 (C), (D) R (E)

Options :

878270143125. 1
878270143126. 2
878270143127.3
878270143128. 4

Question Number : 173 Question Id : 87827036406 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



What is the meaning of Greek term "Agon’ ?

( The practice of actors to double in their roles if the group is small.
(B) A passage between two rows of seats.

(C) An entertainment in open air.

(D) A contest.

( Debate or argument between two characters.

Choose the correct answer from the Dptinns given below :

(1) (A) and (B) Only

(2) (B) and (C) Only
(3) (€) and (D) Only
(4) (D) and (E) Only
Options:

878270143129. 1
878270143130. 2
878270143131. 3

878270143132. 4

Question Number : 173 Question Id : 87827036406 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ek 9168 ' WA o1 o1 B 7
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(1) 3 (A) 3 (B)

(2) e (B) 3R (C)

(3) A (C) R (D)

(4) %9 (D) ¥ (E)

Options :

878270143129. 1

878270143130. 2

878270143131. 3

878270143132. 4

Question Number : 174 Question Id : 87827036407 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which among the following concepts of theatre were propounded by Peter Brook ?
A) Oppressed theatre

B) Deadly theatre

C) Meta theatre

D) Holy theatre

E) Theatre of Cruelty

Choose the correct answer from the options given below :

(I) (A)and (B) Only

(
(
(
(
(

(2) (B) and (C) Only
(3) (B) and (D) Only
(4) (D) and (E) Only
Options:

878270143133. 1
878270143134. 2
878270143135. 3
878270143136. 4

Question Number : 174 Question Id : 87827036407 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(B) wa9rd TrH (e fraen)

(C) T e (W faEe)

(D) e T (Rt fader)

(E) & T (fEen o E Fae)

= fou mu fasredi § 9 W@ IO & 999 Fife0
(1) 9 (A) 4R (B)

(2) %9 (B) 3R (C)

(3) % (B) 3 (D)

(4) A (D) SR (E)

Options :

878270143133. 1
878270143134. 2
878270143135. 3

878270143136. 4

Question Number : 175 Question Id : 87827036408 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



What is Environmental theatre ?

(A) Denotes the merging of the actor’s personality with that of the character he is portraying.

(B)  Theatre of bourgeois period.

(C) Aimed to elimiate the distinction between audiences” and actors space.

(D) Audiences’ acceptance of story, people and setting as a real experience involving real people
in real environment,

(E) A branch of new theatre movement of 190.

Choose the correct answer from the options given below :

(I) (A)and (B) Only

(2) (C) and (E) Only

(3) (B) and (C) Only

(4) (D) and (E) Only

Options:
878270143137. 1
878270143138. 2

878270143139. 3
878270143140. 4

Question Number : 175 Question Id : 87827036408 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270143137.1
878270143138. 2
878270143139. 3

878270143140. 4

Question Number : 176 Question Id : 87827036409 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



What is Forum theatre ?
(A) Uses theatre to achieve social aims.

(B) The theatre that values the body of the actor and its relation with spectator and does away
with costume, decor and music.

(C) Encourages audience interaction and explores different options for dealing with a problem
or isste.

(D) Derived from a non-dramatic piece of writing,

(E)  Often used by socially excluded and disempowered groups.

Choose the correct answer from the oplinns giwen below :

(1) (A) (8)and (C) Only

() (B), (C) and (D) Only
3) (C), D) and (E) Only
(4) (A), (C) and (E) Only
Options:

878270143141. 1
878270143142. 2
878270143143. 3

878270143144. 4

Question Number : 176 Question Id : 87827036409 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270143141.1
878270143142. 2
878270143143. 3

878270143144. 4

Question Number : 177 Question Id : 87827036410 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which among the following plays were performed in Bharangam 2023 ?
(A) Katha Ek Kans ki

(B) Kreeta

(C) Welcome Zindagi

(D) Chhaya Hindol

(E) Jeena isi ka naam hai

Choose the correct answer from the nplmns gwen below :

(1) (A)and (B) Only

(2) (B) and (C) Only

(3) (A), (C) and (E) Only
(4) (D) and (E) Only
Options:

878270143145. 1
878270143146. 2
878270143147. 3

878270143148. 4

Question Number : 177 Question Id : 87827036410 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) Faa (A) 3R (B)

(2) %A (B) R (C)
(3) %4 (A), (C) ¥R (E)
(4) %9 (D) 3R (E)
Options :

878270143145. 1
878270143146. 2
878270143147. 3

878270143148. 4

Question Number : 178 Question Id : 87827036411 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Three famous plays written by Kalidasa are -
(A) Malvikagnimitram

(B) Mudra-Rakshasa

(C) Vikramorvashiyam

(D) Veni-Samhara

(E) Abhijnana-Shakuntalam

Choose the correct answer from the options given below :
(1) (C), (D) and (E) Only

(2) (A), (C) and (E) Only

(3) (A), (B) and (D) Only

(4) (B), (O) and (D) Only

Options:

878270143149. 1
878270143150. 2
878270143151. 3

878270143152. 4

Question Number : 178 Question Id : 87827036411 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) %= (C), (D) ¥R (E)

(2) I (A), (C) S (E)

(3) = (A), (B) 3R (D)

(4) 9d (B), (O) 3R (D)

Options :

878270143149. 1
878270143150. 2
878270143151. 3

878270143152. 4

Question Number : 179 Question Id : 87827036412 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the fullowing theatre l'ermjnnlogies are (:01'1'ectl'}F matched with its meanings, accordjng
to Bharata's Natyashastra ?

(A) Sailaguhakira - like a mountain cavern

(B) Rangasirah - the stage area behind the rangapitha
(C) Sopaniksti pithakam - liered seating in the people’s theatre
(D) Yavanika - the curtains on the stage-doors

(E) Rangapitha - the main acting area on the stage

C lﬁmse the correct answer from the options given below :
(I) (A), (D) and (E) Only

(2) (B), (C) and (D) Only

(3) (A), (C) and (E) Only

(4) (A), (C) and (D) Only

Options:

878270143153. 1

878270143154. 2

878270143155. 3

878270143156. 4

Question Number : 179 Question Id : 87827036412 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) % (4), (D) 3 E)
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(@) (A), (C) ¥ (D)

Options :

878270143153. 1
878270143154. 2
878270143155. 3
878270143156. 4

Question Number : 180 Question Id : 87827036413 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following terms are associated with Classical Greek Theatre Architecture ?
(A) Platea

(B) Scaena ductilis
(C) Ekkyklema
(D) Mekane
(E) Paraskena
Choose the correct answer from the options given below :

(1) (C]; {D) and (E) On]v

(2) (A), (B)and (C) Only
(3) (A), (C) and (E) Only
@ (4),(C)and (D) Only
Options :

878270143157. 1
878270143158. 2
878270143159. 3

878270143160. 4

Question Number : 180 Question Id : 87827036413 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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A feu T ferpedi ® 9 @& ST 1 =T S
(1) %= (C), (D) ¥R (E)

(2) I (A), (B) 8T (C)

(3) %4 (A), (C) ¥R (E)

(4) % (A), (O) (D)

Options :

878270143157. 1
878270143158. 2
878270143159. 3

878270143160. 4

Question Number : 181 Question Id : 87827036414 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Org;mic Blockjng - The outside to inside process of stimulaljng actors to imagchmaking Lhmugh the
use of three visual tools from among the following. Identify them :

(A) Imagination
(B) Ground plan
(C) Composition
(D) Gesture

(E) Tempo-rhythm

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only

(2) (B), (D) and (E) Only
(3) (A), (C) and (E) Only
(4) (B), (C) and (D) Only
Options:
878270143161. 1
878270143162. 2
878270143163. 3

878270143164. 4

Question Number : 181 Question Id : 87827036414 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270143161. 1
878270143162. 2
878270143163. 3

878270143164. 4

Question Number : 182 Question Id : 87827036415 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following statements are voiced by Max Reinhardt who was perhaps the first to

direct productions on an epic scale ?

(A) lama thief, and [ am not ashamed.

(B)  There is no one style or method.

(C)  All depends on realizing the specific atmosphere of the play, on making the play live.

(D) The epic theatre was invented by me primarily in production and by Brecht primarily in the
script.

(E)  The purpose of drama was to teach us how to survive.

Choose the correct answer from the oplinns giwen below :

(1) (A),(C)and (E) Only

(2) (A), (B) and (C) Only
3) (C), D) and (E) Only
() (8) (C) and (D) Only
Options:

878270143165. 1
878270143166. 2
878270143167. 3
878270143168. 4

Question Number : 182 Question Id : 87827036415 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270143165. 1
878270143166. 2
878270143167. 3

878270143168. 4

Question Number : 183 Question Id : 87827036416 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Identify from among the following, sub classification of the Articulatory gestures along functional
lines.

A) Graphic gestures

B) Expressive gestures

D) Non-symbolic gestures
E) Symbolic gestures

(
(
(C) Plastic gestures
(
(

Choose the correct answer from the oplions gi\f en below :

(1) (A), (B)and (C) Only

() (B), (C) and (D) Only
(3) (A), (C) and (E) Only
(4) (B), (D) and (E) Only
Options:

878270143169. 1
878270143170. 2
878270143171.3

878270143172. 4

Question Number : 183 Question Id : 87827036416 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) % (A), (B) 3R (C)

(2) % (B, (C) 3R (D)

(3) e (A), (C) R (E)

(4) 9 (B), (D) 3 (E)

Options :

878270143169. 1
878270143170. 2
878270143171.3

878270143172. 4

Question Number : 184 Question Id : 87827036417 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL.

List - I List - 11
(A) Plato (I)  Artis called precisely Art because it is not nature
(B) Gautier (IT)  The aim of art is not exact reproduction of nature but creation
) Aristotle (III) Fiction is more philosophic than history of actual events

Goethe (IV) Artis a pale shadow twice removed from reality

(€

(D)

Choose the correct answer from the options given below :
(1) (AMD), (BHI), (CHIL), (D)-(IV)

(2)  (A){I), (B-(IV), (C){(T), D}(I)
() (AHIV), (B)-(L), (C)-(L), (D)-(T)
(4) (A, (B)-{D), (C}-V), D)-(I)
Options:

878270143173. 1
878270143174. 2
878270143175. 3

878270143176. 4

Question Number : 184 Question Id : 87827036417 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Tel-1 ¥ Gelt-11 1 frer i
q;ﬂ-l -1

(A) @R () el ! YRYG Y& el el S & i1 e e el ¢ |
(B) e (Il) el 1 3RYA T, T o Aeeavl T & g 35 GoH ¢
() () FeHyFN iee arefoss @ smen s i sifverfs 2|
D) ™ (IV) el ardfadaAene § g ar ufterd i 21 8|

A feu T fompel 6 4 W SR T A

(1) (AHD, (BRI, (CHIM), (D)-IV)

(2)  (AHI), (BHIV), (O-(I), (D}

()  (AHIV), (B, (O-(1), (D)-({)

(4)  (AHID, B)-(), C-1V), (D)0



Options :

878270143173. 1
878270143174. 2
878270143175. 3
878270143176. 4

Question Number : 185 Question Id : 87827036418 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - II
(A) Bhasa (I) Naganandam
(B) Bhavabhuti (I) Mrchhakatika
(C) Sudraka (IlI) Malati-Madhava
(D) Sri Harsha (IV) Svapnavasavadatta

Choose the correct answer from the options given below :
(1) (A)(IV), (B)(ILL), (C)-(11), (D)-(T)

2)  (A)-(D), (B)-(IV), (C)-(I), (D)-(ID)

(3) (A1), (B)-(I), (O)-(1V), (D)-(1II)

(4) (A, (B-(ID), (O)-(1), (D)-(IV)

Options:

878270143177. 1

878270143178. 2

878270143179. 3

878270143180. 4

Question Number : 185 Question Id : 87827036418 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 9 G-I = e sife
-1 -1

(A) 9H () A=

(B) w&Yfd () F=HEH
(C) IEF (LII) e -HTEE
(D) 4ied (IV) =Eeargasdl

A feu T ferpedi ® 9 @@ ST 1 =T S
(1) (AAIV), (B)~(IL), (C)-(1D), (D)-(I)

(2) (A0, (B)-(IV), (C)-(II), (D)-(ID)

() (A)HID, (B)-(1), (O-(1V), (D)-(I1)

(4) (A)(II), (B)(1D), (©)-(1), (D)-(IV)
Options:

878270143177.1

878270143178. 2

878270143179. 3

878270143180. 4

Question Number : 186 Question Id : 87827036419 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - 11.

List - 1 List - II

Requisites for sound Musical instruments
(A) Body capable of vibration (I)  Air, percussion, friction
(B) Energy applied to body (I) Resonating cavities, sounding boards, pipes, etc
(€) Medium for transmission (M) Reeds, plates, skins, strings, air column

(D) Reinforcers of sound (IV) Air, wires, water, solid masses, etc
Choose the correct answer from the options given below :

(1) (AHD) (BHI, (CHII), O)-1V)

(2) (A, B, (CHIV), (D}

() (AHIV), (BII), (C)-(I), (D)-(T)

(4)  (AMII), BH), ©)-), DHIV)

Options :

(A
(A
(A

878270143181. 1
878270143182. 2
878270143183. 3

878270143184. 4

Question Number : 186 Question Id : 87827036419 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Geit-1 9 G-I = el sifsm

i1 -1
a1 e Tuferd a9
(A) 9 G&W I (1) o, |, s
(B) YRR W Ygad Sl (I1) 3T e, &l oS, IRy, e
(C) HeRu "y () FFd, @y did, a1 FHie™
(D) A Yeeh (IV) amd, ar, ¥, 39 fig, anfg
A fou Tu fashed! § | Wl I I =99 HiT ;
(1) (A1), (B}(L), (O)-(II), (D)-(IV)
(2) (A1), (B)-(D), (C-V), (D)-(II)
(3)  (A)N(IV), (B)II), (O-(ID), (D)-(T)
(4) (A)-(Im), (B)-(ID), (O)-(I), (D)-(IV)
Options :

878270143181. 1
878270143182. 2
878270143183. 3

878270143184. 4

Question Number : 187 Question Id : 87827036420 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - 11

List - 1 List - II

Books Authors
(A) The theater and its double (I) Jean-Louis Barrault
(B) Reflections on the theatre (IIy Tyrone Guthrie
(C) A life in the theatre I[II) Alexander Tairov
(D) Notes of a director (IV) Antonin Artaud

Choose the correct answer from the options given below :

(1) (A1), (B)-(L), (©)-IV), (D)-(D)

(2)  (AHIV), (B)(1), (O)-(ITD), (D)-(0)
(3)  (A)1IV), (B)-(1), (C)-(L), (D))
4) (A, (B)-(1V), (O1), (D)-(1I)

Options :

878270143185. 1
878270143186. 2
878270143187. 3

878270143188. 4

Question Number : 187 Question Id : 87827036420 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 9 gEit-11 =1 e s .

-1 -1
q&ich [GECED
(A) & o woe 32 =uad () =4 T IWee
(B) Trwieri® 3114 fg frden (I) 2T Teht
(C) TR g g [1I) Weiset arda
(D) ¥IEH 3F T SHEE (IV) 3HdF el

= feu 7o foredi § | W& I 1 = ST
(1) (A1, (B)-(I1), (©)-(IV), (D)-(I)

(2)  (A)-(IV), (B)-(IL), (CO)-(I1D), (D)-(T)

(3)  (A)-(IV), (B)-(D), (C)-(II), (D)-(LL)

(4)  (A)I), (B)-(1V), (O)-(I), (D)-(IT)

Options :

878270143185. 1

878270143186. 2

878270143187. 3

878270143188. 4

Question Number : 188 Question Id : 87827036421 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.
List -1 List - 11
(A) Additive method of colour mixture  (I) ~ Orange, green, violet
(B) Subtractive method of colour mixture (II) Producing colour by mixing lights in the
primary colours of red, green and blue
(C) Light secondaries () Mixture of primaries of pigments, red, yellow
and blue, to obtain colour
Pigment secondaries (IV) Yellow, blu-green, magenta

(D)
Choose the correct answer from the optlnns gwen below :

(1) (AM, B}, C-V), (D0
(@) (A, (B l( J (©-0), O-IV)
() (AM, B, (C)-(1), (DH1V)
(@) (A)MIO), ( (I)f (©)-V), (D)
Options:

878270143189. 1
878270143190. 2
878270143191. 3

878270143192. 4

Question Number : 188 Question Id : 87827036421 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Tl 8 Fef-11 1 e it
T el
(A) Tan fogm i Ao fofy () AR, 7, o
(B) 1 foom %) oo fafy (1) el ool e, 20 o e § e Here g o

femt

(C) e (IIT) = Fefon g ofent e, e S Aien o o]
frgm

(D) o waHd (V) e, eri-&4, S

A feu T foed # 9 W8 SR A T F

(1) (A, B}, (C-1V), D)-0

(@ (AHm), G-, ©-0), D-1V)

() (AHI, B)-), ©-0), D}-V)

(4)  (AHI), (B)-(), (©-(V), (D)-()

Options :

878270143189. 1
878270143190. 2
878270143191. 3

878270143192. 4

Question Number : 189 Question Id : 87827036422 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following playwrights in chronological order.
(A) Terence

(B) Plautus

(C) Menander

(D) Seneca

(E) Aristophanes

Choose the correct answer from the options given below :
(1) (A), (B), (O, (D), (E)

(2) (B), (C) (D), (E), (A)

(3) (B), (O), (B), (A), (D)

(4) (Q), (D), (E), (A), (B)

Options:

878270143193. 1

878270143194. 2

878270143195. 3

878270143196. 4

Question Number : 189 Question Id : 87827036422 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

frefefiad Aresheril hl SFTeEF AR Safied IS |

(A) =¥

(B) TelieH

(C) HI=X

(D) EH

(E) VRt

A feu o foeredi # @ @& SO o = i

(1) (A), (B), (©), (D), (E)

(2 (B), (), (D), (E), (A

) )
(3)  (E) (O (B), (A), (D)
4) (©), (D) (), (A), (B)



Options :

878270143193. 1
878270143194. 2
878270143195. 3

878270143196. 4

Question Number : 190 Question Id : 87827036423 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the following theatre groups/organizations according to their geographical locations from
North to South :

A)  Adishakti

B) Janapadam

) Spandana

D) Koothu-p-pattarai

E) Asmita

Choose the correct answer from the options given below :

(M) ) E) &), 6) ©
2) (), (B). (C) (D), (A

Options:

878270143197. 1
878270143198. 2
878270143199. 3

878270143200. 4

Question Number : 190 Question Id : 87827036423 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



e e TR e shfe fh 3 SR 8 < 3 o

9 fou o fomredt % 8 W@ SR 1 79 B ;
(1) D) (E) (A), () (©)
@ () (B) (©) (D) A)
() ®) () D) (A) E)
(4 (©, (D), (A), (E) (B)

N S o™

Options:

878270143197. 1
878270143198. 2
878270143199. 3

878270143200. 4

Question Number : 191 Question Id : 87827036424 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the following auditoriums according to their geographical locations from North to South :
(A) Ravindra Bharati

(B) Rabindra Sadan

(C) Ravindra Manch

(D) Ravinda Kalakshetra

Choose the correct answer from the options given below :

() (&) ®), () D)

@ (), (), (A) D)

(3) (), (C) D), (A)

(4) (D) (A) (B), )

Options :



878270143201. 1
878270143202. 2
878270143203. 3

878270143204. 4

Question Number : 191 Question Id : 87827036424 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

frefeaa QUM 1 3 S feafa % orfem S | fam % %0 o e Fifau)
(A) Ta 9

B) =¥

(C) w=wd

(D) Tl Fele

7 fou o fosedl @ © Wl SO H 99 i ;

Options :

878270143201. 1
878270143202. 2
878270143203. 3

878270143204. 4

Question Number : 192 Question Id : 87827036425 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Choose the correct sequen tial order of the 'Elements of an Action’, according to Stanislavski system :
Given Circumstances

(A)

(B) Concentration of Attention

(C) The “Magic If"

(D) Truth and Belief

(E) Imagination

Choose the correct answer from the options given below :
() (0,640
0 ©.,

B (4.0, ) B
(O 06,
Options:
878270143205. 1
878270143206. 2
878270143207. 3

878270143208. 4

Question Number : 192 Question Id : 87827036425 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TRaTereh! YTt & o199, et fofen & acl’ o 9el ST Wl g

(A) e qRfefaai

(B) =AM WUl

(©) “mgeAR”

(D) ®F 49 favwEmH

(E) =heq

A fou U ferredl # @ W& I A = HIOC
(1) (©), (E), (A), (D), (B)

(2) Q) (A), (E), (B), (D)

(3)  (A), (C), (B), (E), (D)

4 (©, (A), (B), (E), (D)



Options :

878270143205. 1
878270143206. 2
878270143207. 3

878270143208. 4

Question Number : 193 Question Id : 87827036426 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Choose the correct sequential order of the words in the Shloka referring to ‘Rangapitha’ in the
Vikrishta-Madhyam Natyagraha :

(A) Tu

(B) Rangapithasya

(C) Mattavirani

(D) Paréve

(E) Kartavya

Choose the correct answer from the options given below :

(1) ) 0) (4), () €

Options:

878270143209. 1
878270143210. 2
878270143211.3

878270143212. 4

Question Number : 193 Question Id : 87827036426 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



forge-nery Teae ¥ ' Grdis’ § Hafyd volis | Y 6l Hel IR T

(4) 9

(B) TrdieH

(C) et

(D) Hgd

(E) e

99 fou o fomed § © W@ SO 1 999 Fifo ;
(1) (B), (D), (A), (E), (C)
2) (©), (D), (A), (B), (E)
(3) (D), (A), (B), (E), (C)
4) (B), (D) (E), (), (A)
Options:

8782701432009. 1
878270143210. 2
878270143211. 3

878270143212. 4

Question Number : 194 Question Id : 87827036427 Question Type : MCQ Option Shuffling

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (I) : “Purgation” and “Purification” were the common translations of Aristotle’s term
“Catharsis” at the turn of the century.

Statement (II) : Recent exponents of purificatory Catharsis include Stanislavski and Grotowski,
who both have conceived of theatre as a surrogate church in which participants
may become “Priests of Art” and achieve “Secular Sainthood”,

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement Il is incorrect
(

4) Statement I is incorrect but Statement II is correct

:No



Options :

878270143213. 1
878270143214. 2
878270143215. 3
878270143216. 4

Question Number : 194 Question Id : 87827036427 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

QP UM E

T TR ¥ o o o 1 e TReR o g & &9 ¥ for T o

FUT I T A & 6 o < T § S o e wi €| R e
ftageR PR, o & ¥ YRCeRioa foren & vl 411 /¥ie sl o oI 21 & A 94 e
@ @ e H0 ¢

TR F o S H, Tl fu T foeredl § 9 Wl I T A

(1) ISR BRI T €

() 1SR FIR 11 e ¢

() H IR ¢, ol RO 1T ¢

(4) UL ¢, Tl FT I €

Options :

878270143213. 1

878270143214. 2

878270143215. 3

878270143216. 4

Question Number : 195 Question Id : 87827036428 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement (I) : The natya or drama presents in a way a story. Bharata calls this itivitta or vastu,
the "body” of the drama.

Statement (II) : It implies that rasa is the ‘soul’, the living essence, of drama which is revealed
through the body, the plot of the play.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4) Statement I is incorrect but Statement II is correct

(
(3) Statement I is correct but Statement Il is incorrect
(

Options:

878270143217. 1

878270143218. 2

878270143219. 3

878270143220. 4

Question Number : 195 Question Id : 87827036428 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

4 ¢ FH UM e

FATL: T2 T e ol o A ol 0 o R O © | R 3 3 o e €, e
T §

TR 70 f & T e o e o e’ € R e 3 v i T F g
T T I 2|

SRR T F ST §, A fou T foeredt 9 WE S T A

(1) FOR1 R TR 78 &

(2) R 1 3 e 11 SF e

(3) UG T, O o 1T ¢

(4) IR ¢, Wl FTI I €

Options :



878270143217. 1
878270143218. 2
878270143219. 3

878270143220. 4

Sub-Section Number : 2
Sub-Section Id : 8782701538
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827036429 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Question Numbers : (196 to 200)
Question Label : Comprehension

The shadow theatre and puppet theatre of all varieties -- rod, glove, marionette -- are active
in India. What it may lack in refinement and sophistication, it gains in variety and vitality when
compared to the contemporary traditions of shadow theatre of the Wayang kulit, or the Nang
Sbek, or Nang Yai of Indonesia, Malaysia, Cambodia or Thailand. The wooden rod puppets of the
Wayang Golek type and marionettes of the Burmese type are found in different parts of India.

In Orissa the shadow theatre is known as Ravana Chayi, literally meaning shadow of Ravana.

The counterpart of the ballad singer of the Dasikathizor thedalang’ of the Indonesian Wayang
Kulit, is the reciter-manipulator of the Ravana Chaya.

The text used is the Oriya Vicitra Ramayam, as in the Dasakathia.
The Tholu Bomalattam, meaning leather puppet-dance, is a visual representation through large
coloured puppets of the Burrakatha of Andhra Pradesh. The text of the plays is drawn from the

Telugu Ramayam version. The form of the puppets resembles the medieval murals of the Vijayanagara
period : the shadows are gigantic and compare favourably with the Nang Sbek.

The Karnataka shadow theatre (called literally, leather puppet-dance) is another visual
representation of the Kannada Ramaynm.

The shadow theatre of Karanataka revolving around the Rima theme, is closely related to
Rima play presented as wooden puppets. The wooden puppets resemble the Yaksagina, and the
marionette theatre is indeed only another aspect of the live theatre in all the regions.

Sub questions

Question Number : 196 Question Id : 87827036430 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which text is used in Ravana Chaya ?

(1

Vicitra Ramayana

)

) Telugu Ramayana
)  Valmiki Ramayana
)

(2
(3
(4) Kannada Ramayana
Options :

878270143221. 1

878270143222. 2

878270143223. 3

878270143224. 4

Question Number : 197 Question Id : 87827036431 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

ﬂccnrding to passage wooden rod puppets are used in :
(1) Wayang Golek

(2) Dalang
(3) Yakshagana
(4) BurraKatha

Options :

878270143225. 1
878270143226. 2
878270143227.3
878270143228. 4

Question Number : 198 Question Id : 87827036432 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

According to passage Ravana Chaya literally means :
(1) Ballad Singing

(2) Shadow of Ravana
(3) Wooden Puppet
(4) Live Theatre

Options :

878270143229. 1
878270143230. 2
878270143231. 3

878270143232. 4

Question Number : 199 Question Id : 87827036433 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

According to passage the shadow puppet theatre of Karnataka is closely related to :
(1) Rama play presented as Marionette

(2
(3
(

) Rama play presented as Wooden Puppets
) Rama play presented as Rod Puppets
) Rama play presented as Glove Puppets

[y

Options :

878270143233, 1
878270143234. 2
878270143235.3

878270143236. 4

Question Number : 200 Question Id : 87827036434 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - II
Forms Country
(A) Nang Sbek (I) Indonesia
(B) Bommalattam (I)  Orissa
(C) Ravana Chaya (IIT) Andhra Pradesh
(D) Wayang Kulit (IV) Cambodia

Choose the correct answer from the options giv en below :

(1) (A)-(1), (B)-(IT), (C)-(IL), (D)-(IV)

(2)  (A)-(ID), (B)-(ID), (O)-(IV), (D)-(I)
(3)  (A)-(IV), (B)IIL), (C)-(11), (D)-(T)
(4) (A)-(), (B)-(IV), (O)-(L), (D)-(II)
Options :

878270143237. 1
878270143238. 2
878270143239. 3

878270143240. 4

Question Id : 87827036429 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Question Numbers : (196 to 200)

Question Label : Comprehension
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Sub questions

Question Number : 196 Question Id : 87827036430 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e B H g T w5 wE e e g ?
(1) Taf=s e
(2) O THEY

(3) STeHifR THTE
(4) FHS THEY

Options :
878270143221. 1

878270143222. 2



878270143223. 3

878270143224. 4

Question Number : 197 Question Id : 87827036431 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T % FTEHR FTS-9 FH3qdarardl = JAn forgd fohan s 8 2

(1) ST ek

(2) e

(3) F&H

(4) TN
Options:

878270143225. 1
878270143226. 2
878270143227. 3

878270143228. 4

Question Number : 198 Question Id : 87827036432 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

RIS & SR TE0T BTN 1 Ifegeh 1fdd © ¢
(1) woarg A

(2) T R B

(3) TS FHSYAA

(4) SfEd T
Options:

878270143229. 1

878270143230. 2
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878270143232. 4

Question Number : 199 Question Id : 87827036433 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TN % SFTAR FACH BN e T frefafad § § s frerem @ gafim §2

(1) wR#He % &9 H Fed T0 F641

(2) H FSYAferl o T W TR TH TH
(3) B (L) FIafcrdl & ¥ H Feqd T T67
(4) T FIYACT F T H TERI T FEI
Options:

878270143233. 1
878270143234. 2
878270143235. 3

878270143236. 4

Question Number : 200 Question Id : 87827036434 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(IV) heifean
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(D (A1), (B)-(I), (C)-(II), (D)-(IV)

(2

(4
Options :
878270143237. 1
878270143238. 2
878270143239. 3

878270143240. 4

) (A)-(ID), (B)-(II), (O)-(IV), (D)-(I)
(3)  (A)-(IV), (B)-(IID), (O, (D)-(D)
) (A)-(I), (B)-(1V), (©O)-(1), (D)-(1I)



